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Direction: - (1-4) 

The table below represents the cost, revenue and tax rate for 

XYZ Limited for a period of 8 years. Cost and revenue are 

given in Rs ‘000 crores. 

नीचे सी गई तावलका में XYZवलवमटेड की 8िषो की अिधी के वलए लाग

त,राजस्वा तथा कर की िर क  ? गया है| लागत तथा आय  ‘000कर र रु

 िी गई है| 

  

Year 

  िषफ 

Revenue 

राजस्व 

Cost 

लागत 

Tax rate 

कर कीिर 

Y1 800 600 20% 

Y2 1100 850 22% 

Y3 1200 900 22% 

Y4 1200 950 25% 

Y5 1350 1050 30% 

Y6 1500 1200 30% 

Y7 1600 1240 33% 

Y8 1850 1400 15% 

Profit for any year= revenue-cost 

किसी वर्ष िा लाभ = राजस्व-लागत 

Profit after tax for any year = Profit of that year – tax of that year 

किसी वर्ष िे कलए िर िे बाद िा लाभ = उस वर्ष िा लाभ – उस वर्ष िा 

िर 

Tax on any year = tax rate of that year× Profit of the year 

किसी वर्ष िा िर =उस वर्ष िे िर िी दर × उस वर्ष िा लाभ 

(1) How much tax (in Rs '000 crores) was paid by XYZ limited 

in Y7? 

Y7 में XYZ वलवमटेड ने वकतना कर भुगतान ('000 कर ड़ रु मे) वकया 

है? 

SSCCGL201708AUG-S3 : 72 

(a) 90  (b) 99  (c) 118.8  (d) 126 

 

(2) Which of the following is correct about profit after tax for 

year Y2, Y6 and Y8? 

Y2, Y6 तथा Y8 वर्ष िे कलए िर िे बाद लाभ िे बारे में िौन सा तथ्य सही 

है? 

SSCCGL201708AUG-S3 : 73 

(a) Y8 > Y6 = Y2  (b) Y6 > Y2 > Y8 

(c) Y8 > Y6 > Y2  (d) Y6 = Y8 > Y2 

 

(3)  

How many distinct values of yearly profit are there? 

वाकर्षि लाभ िी राकि िे अलग अलग कितने मान हैं? 

SSCCGL201708AUG-S3 : 74 

(a) 3  (b) 4  (c) 5  (d) 6 

 

(4) What is the total sum (in '000 crores) of profit after tax 

for Y1 to Y8? 

Y1 से Y8 तक कर के बाि िाले लाभ की कुल रावि ('000 कर ड़ में) 

वकतनी है? 

SSCCGL201708AUG-S3 : 75 

(a) 1763.6 (b) 1803.2 (c) 1820.2 (d) 1872.4 

  

Direction: - (5-8) 

The table given below shows the ratio of exports and imports of 

a country for 5 years. 

Total trade=exports + imports 

नीचे दी गई ताकलिा में एि देि िे 5वर्ो िे कनर्ाषत तथा आर्ात िे अनुपात 

िो दिाषर्ा गर्ा है| 

िुल व्यापार = आर्ात + कनर्ाषत 
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(5)  If the total trade of the country in year 3 was 1183 crore 

dollars, then what was the difference (in crore dollars) between 

exports and imports of the country in that year? 

र्कद देि िा वर्ष 3 में िुल व्यापार 1183 िरोड़ डॉलर था, तो उसी वर्ष देि 

िे आर्ात तथा कनर्ाषत िे बीच िा अंतर (िरोड़ डॉलर में) कितना था? 

SSCCGL201710AUG-S1 : 72 

(a) 169  (b) 173  (c) 142  (d) 158 

 

(6) The total trade for Year 2 and Year 4 is same. If exports of 

Year 4 are 315 crore dollars, then what are the imports (in crore 

dollars) of Year 2? 

वर्ष 2 तथा वर्ष 4 िा िुल व्यापार समान है। र्कद वर्ष 4 िा कनर्ाषत 315 िरोड़ 

डॉलर है, तो वर्ष 2 िा आर्ात (िरोड़ डॉलर में) कितना है? 

SSCCGL201710AUG-S1 : 73 

(a) 306.4  (b) 309.8  (c) 323.7  (d) 318.5 

 

(7) Total trade of Year 1 is twice of the total trade of Year 5. If 

total trade of Year 1 is 5700 crore dollars, then what is the 

difference (in crore dollars) in exports of Year 1 and Year 5? 

वर्ष 1 िा िुल व्यापार वर्ष 5 िे िुल व्यापार िा दोगुना है। र्कद वर्ष 1 िा 

िुल व्यापार 5700 िरोड़ डॉलर है, तो वर्ष 1 तथा वर्ष 5 िे कनर्ाषत में कितना 

अंतर (िरोड़ डॉलर में) होगा? 

SSCCGL201710AUG-S1 : 74 

(a) 1835  (b) 1632  (c) 1368  (d) 1423 

  

(8) The total trade of 5 years is 3800, 3600, 2800, 3900 and 5000 

crore dollars respectively. What is the difference (in crore dollars) 

in the average exports and average imports respectively? 

5 वर्ों िा िुल व्यापार क्रमिः 3800, 3600, 2800, 3900 तथा 5000 िरोड़ 

डॉलर है। क्रमिः औसतन कनर्ाषत तथा औसतन आर्ात में कितना अंतर 

(िरोड़ डॉलर में) है? 

SSCCGL201710AUG-S1 : 75 

(a) 60  (b) –60  (c) –90  (d) 120 

 

Direction: - (9-12) 

The table below shows the distribution of number of people 

living in 8 different countries and the per capita income of each 

of the countries. The total population of these countries taken 

together is 200 crores. 

Per capita income= total GDP of country/population of the 

country 

नीचे दी गई ताकलिा में 8 कवकभन्न देिो में रहने वाले लोगो ि कवतरण तथा सभी 

देिो िी प्रकत व्यक्ति आर् िो दिाषता गर्ा है |इन देिो िी िुल जनसख्या 

200 िरोर है | 

प्रकत व्यक्ति आर् = देि िा िुल सिल घरेलू उत्पाद (जी.डी.पी)/देि िी 

जनसंख्या 

 
(9) What is the difference (in crores) in population of the most 

and the least populated country? 

सबसे अकिि तथा सबसे िम जनसंख्या वाले देिो ंिे बीच जनसंख्या में 

कितना अंतर (िरोड़ में) है? 

SSCCGL201708AUG-S2 : 72 

(a) 18  (b) 32  (c) 34  (d) 36 

 

(10) What is the total GDP (in crore dollars) of country 5? 

देि 5 िा िुल सिल घरेलू उत्पाद (जी. डी. पी.) (िरोड़ डॉलर में) कितना है? 

SSCCGL201708AUG-S2 : 73 

(a) 27120 (b) 31640 (c) 38280 (d) 44660 

  

(11) What is the total GDP (in crore dollars) for the country with 

the third lowest per capita income? 

तीसरी सबसे िम प्रकत व्यक्ति आर् वाले देि िा िुल सिल घरेलू उत्पाद 

(जी. डी. पी.) (िरोड़ डॉलर में) कितना है? 

SSCCGL201708AUG-S2 : 74 

(a) 181900  (b) 108460 

(c) 145200  (d) 164560 

 

(12) Which country has the highest total GDP? 

किस देि िी िुल सिल घरेलू उत्पाद (जी. डी. पी.) सबसे अकिि है? 

SSCCGL201708AUG-S2 : 75 

(a) Country 1/देि 1  (b) Country 2/देि 2 

(c) Country 3/देि 3  (d) Country 8/देि 8 

  

Direction: - (13-16) 

The table given below represents the amount of education loan 

(in crores) disbursed by 5 blanks of a country over5 years. 

नीचे दी गई ताकलिा में एि देि िे 5 बैंिो ंद्वारा 5 वर्ो में किक्षा िे कलए 

कवतररत किए गए ऋण (िरोड़ो ंमें ) िो दिाषर्ा गर्ा है| 

 
 (13) What is the percentage increase in education loan 

disbursed by Bank 2 from 2010 to 2014? 

2010 से 2014 ति बैंि 2 िे द्वारा किक्षा िे कलए कवतररत ऋण में कितने 

प्रकतित िी वृक्ति हुई है? 
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SSCCGL201711AUG-S3 : 72 

(a) 85.42  (b) 87.69  (c) 89.21  (d) 83.18 

 

(14) Which banks show a continuous trend of increase/decrease 

in loan amount disbursed over 5 years? 

किन बैंिो ंिी कवतररत ऋण िी राकि में 5 वर्ों में कनरंतर वृक्ति अथवा िमी 

हुई है? 

SSCCGL201711AUG-S3 : 73 

(a) Bank 1 and Bank 4/बैंि 1 तथा बैंि 4 

(b) Bank 1, Bank 4 and Bank 3/बैंि 1, बैंि 4 तथा बैंि 3 

(c) Bank 1, Bank 4 and Bank 5/बैंि 1, बैंि 4 तथा बैंि 5 

(d) Bank 4 and Bank 5/बैंि 4 तथा बैंि 5 

 

(15) What can be said about the two following ratios? 

I. Loan amount disbursed by Bank 1 in 2011/ Loan amount 

disbursed by Bank 2 in 2014 

II. Loan amount disbursed by Bank 3 in 2014/ Loan amount 

disbursed by Bank 4 in 2011 

कनम्नकलक्तित दो अनुपातो ंिे बारे में क्या िहा जा सिता है? 

I. 2011 में बैंि 1 द्वारा कवतररत ऋण/ 2014 में बैंि 2 द्वारा कवतररत ऋण 

II. 2014 में बैंि 3 द्वारा कवतररत ऋण / 2011 में बैंि 4 द्वारा कवतररत ऋण 

SSCCGL201711AUG-S3 : 74 

(a)  I > II  (b)  I < II 

(c)  I = II  (d)  No relationिोई संबंि नही ंहै 

 

(16) Which of the following is the correct order of percentage 

increase in loan amount disbursed by the given banks from 2010 

to 2014? 

2010 से 2014 ति कदए गए बैंिो िे द्वारा किए गए कवतररत ऋण िी राकि में 

प्रकतित वृक्ति िा िौन सा कनम्नकलक्तित क्रम सही है? 

SSCCGL201711AUG-S3 : 75 

(a) Bank 3 > Bank 5 > Bank 2 > Bank 1 > Bank 4बैंि 3 > बैंि 5 > 

बैंि 2 > बैंि 1 > बैंि 4 

(b) Bank 2 > Bank 3 > Bank 5 > Bank 1 > Bank 4बैंि 2 > बैंि 3 > 

बैंि 5 > बैंि 1 > बैंि 4 

(c) Bank 5 > Bank 2 > Bank 3 > Bank 4 > Bank 1बैंि 5 > बैंि 2 > 

बैंि 3 > बैंि 4 > बैंि 1 

(d) Bank 2 > Bank 5 > Bank 4 > Bank 3 > Bank 1बैंि 2 > बैंि 5 > 

बैंि 4 > बैंि 3 > बैंि 1 

 

Direction: - (17-20) 

There are six taxi companies (A,B,C,D,E,F) in a certain city. The bar 

graph show the number of taxis run by each of these six 

companies. Study the diagram and answer the following 

question. 

एि कनकित िहर में छह टैक्सी िम्पकनर्ााँ (A,B,C,D,E,F) हैं| 

बार ग्राफ इन छह िम्पकनर्ााँ में से प्रते्यि द्वारा चलाई जाने वाली टैक्सीर्ो ंिी 

संख्या दिाषता हैं| इस आरेि िा अध्यर्न िरें  और कनम्नकलक्तित प्रश्ो ंिा उत्तर 

दें | 

 

(17) Which taxi company has more taxis than A but less than D? 

किस टैक्सी िंपनी में A से अकिि और D से िम टैक्तक्सर्ां हैं? 

SSCCGL201721AUG-S3 : 72 

(a) B  (b) C  (c) F  (d) E 

 

(18) If 30 taxis quit company B and joined company D then D will 

have how many more taxis than C? 

र्कद 30 टैक्तक्सर्ां िंपनी B िो छोड़ दें  और िंपनी D में िाकमल हो जाएं तो C 

िी तुलना में D में कितनी अकिि टैक्तक्सर्ां होगंी?ं 

SSCCGL201721AUG-S3 : 73 

(a) 40  (b) 30  (c) 110  (d) 70 

 

(19) Even if A and C decide to merge, still D will have how many 

more taxis (in %) than the merged A and C entity? 

भले ही A और C कवलर् िरने िा कनणषर् लें, कफर भी कवलीन A और C से बनी 

सत्व िी तुलना में D में कितनी अकिि (% में) टैक्तक्सर्ां होगंी?ं 

SSCCGL201721AUG-S3 : 74 

(a) 15  (b) 20  (c) 10  (d) 25 

 

(20) If each taxi on an average runs 100 kms every day and if fuel 

cost is Rs 3 per km, then all these taxis spend how much (in Rs.) 

on fuel every day? 

र्कद प्रते्यि टैक्सी प्रकतकदन औसतन 100 कि.मी. चलती है और र्कद ईंिन िी 

लागत 3 रु प्रकत कि.मी. हो, तो हर कदन सभी टैक्तक्सर्ो ंिे कलए ईंिन पर कितना 

व्यर् (रु में) होगा? 

SSCCGL201721AUG-S3 : 75 

(a) 128000 (b) 108000 (c) 118000 (d) 98000 

 

Direction:-(21-24)  

The bar graph shows the number of employees working in 6 

different companies. Study the diagram and answer the 

following question. 

यह बार लेखावचत्र 6 विवभन्न कों पवलय ों में काम कर रहे क्रमचाररय  की 

सोंख्या  क  ििाफता है| आरेख का अध्ययन करें  और वनम्नवलखखत प्रश्न ों के 

उत्तर िें   

  

(21) What is the difference in number of employees of company 

D and company A? 

िंपनी D और िंपनी A िे िमषचाररर्ो ंिी संख्या में कितना अंतर है? 

SSCCGL201722AUG-S2 : 72 

(a) 100  (b) 50  (c) 150  (d) 200 

 

(22) If an insurance agent gets to sell policies to all employees of 

companies B, D and F, then how many policies does he sell? 

र्कद िोई बीमा एजेंट B, D और F िंपकनर्ो ंिे सभी िमषचाररर्ो ंिो पॉकलसी 

बेचना चाहता है, तो वह कितनी पॉकलकसर्ां बेचता है? 

SSCCGL201722AUG-S2 : 73 

(a) 750  (b) 650  (c) 800  (d)  700 
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(23) Number of employees in company E are lower than those of 

company B by: 

िंपनी E में िमषचाररर्ो ंिी संख्या िंपनी B िे मुिाबले कितनी िम है: 

SSCCGL201722AUG-S2 : 74 

(a) 60%  (b) 80%  (c) 40%  (d) 20% 

 

(24) If Company B\'s department which employs 20% of its 

employees is sold off to company F, then company F will now 

have how many employees? 

र्कद िंपनी B िा वह कवभाग, कजसमें उसिे 20% िमषचाररर्ो ंिो रोजगार 

कदर्ा गर्ा है, उसे िंपनी F िो बेच कदर्ा जाता हैं, तो िंपनी F में अब कितने 

िमषचारी होगें? 

SSCCGL201722AUG-S2 : 75 

(a) 400  (b) 450  (c) 500  (d) 550 

 

Direction:-(25-28)  The table given below represents the marks 

obtained by 5 students in 4 different subjects. Each student was 

given marks out of 100 in each of the given subjects. 

नीचे डी गई ताकलिा ने 5छात्ो ंद्वारा 4 अलग-अलग कवर्र्ो ंमें प्राप्त अंिो िो 

दिाषर्ा गर्ा है|प्रते्यि छात् िो सभी कवर्र्ो में 00 में से अंि कदरे् गए है| 

Student 

छात् 

English 

अंगे्रजी 

Mathematics 

गकणत 

Science 

कवज्ञान 

Hindi 

कहंदी 

1 87 96 90 81 

2 74 99 94 89 

3 89 99 99 92 

4 62 89 96 91 

5 95 92 92 86 

(25) In which subject the total marks of all the students is 

highest?किस कवर्र् में सभी छात्ो ंिे िुल अंि अकिितम है? 

SSCCGL201705AUG-S3 : 72 

(a) Englishअंगे्रजी  (b) Mathematicsगकणत 

(c) Scienceकवज्ञान  (d) Hindiकहंदी  

 

(26) Which student scored the maximum marks in all the 4 

subjects taken together? 

किस छात् ने सभी 4 कवर्र्ो ंिो कमलािर सवाषकिि अंि प्राप्त किए है? 

SSCCGL201705AUG-S3 : 73 

(a) Student 1 / छात् 1 (b) Student 2 / छात् 2 

(c) Student 3 / छात् 3 (d) Student 5 / छात्  5 

 

(27) A new subject is added in which all the students have scored 

100 marks. If total marks are calculated as sum of the marks of 

highest 4 subjects, then who will be second in terms of total 

marks? 

एि नरे् कवर्र् िो िाकमल किर्ा गर्ा है, कजसमें सभी छात्ो ंने 100 अंि प्राप्त 

किए। र्कद उनिे िुल अंिो िी गणना िे कलए 4 उच्चतम अंिो ंवाले  कवर्र्ो ं

िा र्ोग किर्ा गर्ा है, तो िुल अंिो ंिे आिार पर दूसरे स्थान पर िौन होगा? 

SSCCGL201705AUG-S3 : 74 

(a) Student 3/  छात् 3 (b) Student 2 / छात् 2 

(c) Student 5 / छात् 5 (d) Student 4 / छात्  4 

 

(28) The average marks per student in English is what percent of 

the average marks per student in Hindi? 

अंगे्रजी में प्रकत छात् औसत अंि, कहंदी में प्रकत छात् औसत अंिो ंिा कितना 

प्रकतित है? 

SSCCGL201705AUG-S3 : 75 

(a) 91.48  (b) 97.12  (c) 92.71  (d) 98.18 

  

Direction:-(29-32) The table given below represents the 

production and sales of wheat in 4 different countries A, B, C, 

and D over a period of 4 years. At the end of year 2010 A, B, C 

and D had a stock of 5200,3500,7835,1956 (in ‘000 quintals) of 

wheat respectively. For any given year the stock of wheat is 

calculated as 

Stock of year (n+1)=stock at end of year(n)+production in year 

(n+1)- sales in year (n+1) 

And Surplus of year(n)=production in year (n)-sales in year (n) 

  

नीचे दी गई ताकलिा में 4 वर्ो िी अवकि िे कलए कवकभन्न देिो A,B,C  तथा D 

िे उत्पादन तथा कबक्री  िो दिाषर्ा गर्ा है| वर्ष 2010 िे अंत में क्रमिः 

A,B,C तथा D  िे पास गेहं िा  5200, 3500, 7835 तथा 1956 (‘000 क्तवंटल 

में) भंडार है | कदए गए किसी वर्ष में गेह िे भंडार िी गणना िे कलए 

वर्ष(n+1) िा भंडार +वर्ष(n) िे अंत िा भंडार +वर्ष(n+1) िा उत्पादन – 

वर्ष(n+1) िी कबक्री 

तथा वर्ष(n) िा अकििेर् = वर्ष(n) िा उत्पादन-वर्ष (n) िी कबक्री  

Year/ 

वर्ष 

Wheat production and sales (in ‘000 quintals) 

गेहं िा उत्पादन और कबक्री (‘000 क्तवंटल में) 

Country A Country B Country C Country D 

Prod 

उत्पादन 

Sales 

कबक्री 

Prod 

उत्पादन 

Sales 

कबक्री 

Prod 

उत्पादन 

Sales 

कबक्री 

Prod 

उत्पादन 

Sales 

कबक्री 

2011 1218 1413 1881 1798 2035 2247 3126 2417 

2012 1554 1783 2067 2389 1821 2018 2987 2911 

2013 1671 1641 1328 2063 1937 2563 2143 3188 

2014 1103 1002 1578 1239 3014 2988 4126 3563 

(29) What is the surplus (in '000 quintals) of country A of 

years 2013 and 2014 taken together? 

िेि A का िषफ 2013 तथा 2014 का कुल अवधिेष ('000 खवों टल में) 

वकतना है? 

SSCCGL201710AUG-S2 : 72 

(a) 122  (b) 131  (c) 143  (d) 158 

  

(30) What is the stock (in '000 quintals) of country C at end 

of the 4 year period? 

िेि C का 4 िषफ की अिवध के अोंत में भण्डार ('000 खवों टल में) वकतना 

है? 

SSCCGL201710AUG-S2 : 73 

(a) 5926  (b) 6213  (c) 6826  (d) 8844 

  

(31) What is the difference (in \'000 quintals) in average 

production and average sales respectively of country C in 

the given four years? 

विए गए 4 िषों में िेि C की क्रमिः औसत उत्पािन तथा औसत वबक्री 

में क्या अोंतर (\'000 खवों टल में) है? 

SSCCGL201710AUG-S2 : 74 

(a) – 252.25  (b) – 415.50 

(c) 350.75  (d) 275.25 

  

(32) What can be said about total surplus of country B and 

country D over the 4 years? 

िेि B तथा िेि D के 4 िषफ की अिवध के कुल अवधिेष के बारे में क्या 

कहा जा सकता है? 

SSCCGL201710AUG-S2 : 75 

(a) Surplus of B = Surplus of D 

B िा अकििेर् = D िा अकििेर् 

(b) Surplus of D > Surplus of B 

D िा अकििेर् > B िा अकििेर् 

(c) Surplus of B > Surplus of D 

B िा अकििेर् > D िा अकििेर् 

(d)  No relation is there 

िोई संबंि नही ंहै 
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Direction:-(33-36) The line graph shows annual profits in 

rupees lakhs of a certain company from 2011to 2016. Study the 

diagram and answered the following questions. 

लाइन ग्राफ वर्ष 2011 से लेिर 2016 ति एि कनक्त‍ चत िंपनी िा वाकर्षि 

लाभ (रूपए लािो ंमें) दिाषता है। इस आरेि िा अध् र्र्न िरें  और 

कनम् नकलक्तित प्रिनो ंिा उत् तर दें। 

 
(33) The company reported a loss in which year? 

िंपनी ने किस वर्ष नुिसान अंकित किर्ा है? 

SSCCGL201717AUG-S1 : 72 

(a) 2013  (b) 2016  (c) 2012  (d) 2014 

  

(34) What is the cumulative profits (in lakh Rs) earned by the 

company in the given six years? 

कदए गए छह वर्ों में िंपनी द्वारा अकजषत संचकर्त लाभ (लाि रु में) कितना है? 

SSCCGL201717AUG-S1 : 73 

(a) 80  (b) 70  (c) 90  (d) 100 

 

(35) By what value profit in 2012 was more (in %) than the profit 

of 2011? 

2012 में हुए लाभ िा 2011 में हुए लाभ िी तुलना में कितना अकिि मान (in 

% में) था? 

SSCCGL201717AUG-S1 : 74 

(a) 10  (b) 33.33  (c) 50  (d) 40 

 

(36) If the profits are added to the company\'s reserves and the 

reserves stood at Rs 150 lakhs at the end of 2015, what were the 

reserves (in Rs. lakhs) in the beginning of 2012? 

र्कद लाभ िो िंपनी िे ररज़वष में िाकमल किर्ा जाता है और 2015 िे अंत में 

ररज़वष 150 लाि रु हो जाता है, तो 2012 िे आंरभ में ररज़वष (लाि रु में) 

कितना था? 

SSCCGL201717AUG-S1 : 75 

(a) 130  (b) 90  (c) 110  (d) 40 

  

Direction:-(37-40)  The pie chart given below the break-up of 

number of hours of teaching various subjects at an institute by 

Mr. Raghav. 

नीचे कदए गरे् वृत्त कचत् में श्री राघव द्वारा किसी संस्थान में कवकभन्न कवर्र्ो ंिो 

पढ़ाने िे घंटो िी संख्याओ िे वगीिरण िो दिाषर्ा गर्ा है| 

 
(37) If Mr. Raghav taught a total of 500 hours, then what is the 

difference in number of hours of teaching algebra and modern 

Maths? 

SSCCGL201709AUG-S1 : 72 

(a) 15  (b) 20  (c) 25  (d) 40  

 

(38) Mr. Raghav taught Geometry for 36 hours. If the time taken 

in teaching Ratio consitutes one-fourth of the time for 

Arithmetic, then for how much time (in hours) did he taught the 

topic of Ratio? 

SSCCGL201709AUG-S1 : 73 

(a) 46  (b) 51.75  (c) 69  (d) 103.5 

 

(39)  If Data Interpretation and Modern Maths were taught for a 

combined time of 96 hours, then for how much time (in hours) 

were Number system and Geometry taught? 

SSCCGL201709AUG-S1 : 74 

(a) 136  (b) 184  (c) 216  (d) 232  

 

(40) A new topic named Problem Solving was also introduced 

and it was decided that 10% time of all topics except Arithmetic 

will be devoted to it. What will be the central angle (in degrees) 

made by Problem Solving in the new pie chart? 

समस्या समािान नामि एि नर्ा कवर्र् िाकमल किर्ा गर्ा है तथा तर् हुआ 

कि अंिगकणत िे अलावा सभी कवर्र्ो ंिा 10% समर् इस कवर्र् िो कदर्ा 

जारे्गा। नए वृत्त कचत् में समस्या समािान द्वारा बनार्ा गर्ा मध्य िोण (कडग्री 

में) क्या होगा? 

SSCCGL201709AUG-S1 : 75 

(a)17.28  (b)18  (c)19.44  (d)36 

 

Direction (41-44): The table given below shows the percentage 

of literate people in 6 cities . This table also shows the ratio of 

males to females among literate people. 

कनचे दी गई ताकलिा में 6 िहरो ंमें किकक्षत लोगो में प्रकतित िो दिषर्ा गर्ा है 

|र्ह ताकलिा किकक्षत लोगो में पुरुर् तथा मकहलाओ ंिे अनुपात िो भी दिाषती 

है |  

 

 
% of literate people of any city 

=(Literate people of the city /total population of the city)×100 

किसी िहर िे किकक्षत लोगो िा प्रकतित 
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=(उस िहर िे किकक्षत लोगो /उस िहर िी िुल जनसंख्या ) ×100 

 

(41)If the total population of City 4 is 600000, then how many 

literate people are there in city 4? 

र्कद िहर 4 िी िुल जनसंख्या 600000 है, तो िहर 4 में कितने किकक्षत लोग 

हैं? 

SSCCGL201709AUG-S2 : 72 

(a) 480000  (b) 378000 

(c) 468000  (d) 348000 

  

(42) Total population of City 6 is 200000 and the total population 

of City 2 is 220000. What is the respective ratio of literate males 

of City 2 and literate females of City 6? 

िहर 6 िी िुल जनसंख्या 200000 है तथा िहर 2 िी िुल जनसंख्या 

220000 है। क्रमिः िहर 2 िे किकक्षत पुरुर्ो ंतथा िहर 6 िी किकक्षत 

मकहलाओ ंिे बीच िा अनुपात क्या है? 

SSCCGL201709AUG-S2 : 73 

(a) 348 : 595  (b) 255 : 199 

(c) 595 : 348  (d) 199 : 255 

  

(43)  If there are 259210 literate females in City 5, then what is 

the total population of City 5? 

र्कद िहर 5 में 259210 किकक्षत मकहलाएाँ  हैं, तो िहर 5 िी िुल जनसंख्या 

क्या है? 

SSCCGL201709AUG-S2 : 74 

(a) 644000  (b) 354200 

(c) 690000  (d) 483000 

  

(44) The population of the 6 cities are 250000, 200000, 220000, 

300000, 150000 and 400000 respectively. Which is the correct 

order of the number of literate people in these cities? 

6 िहरो ंिी जनसंख्या क्रमिः 250000, 200000, 220000, 300000, 

150000 तथा 400000 है। इन िहरो ंमें किकक्षत लोगो ंिी संख्या िा सही क्रम 

िौन सा है? 

SSCCGL201709AUG-S2 : 75 

(a) City 6 > City 1 > City 4 > City 2 > City 3 > City 5 

(b) City 4 > City 6 > City 1 > City 2 > City 3 > City 5 

(c) City 6 > City 4 > City 1 > City 3 > City 2 > City 5 

(d) City 6 > City 1 > City 4 > City 3 > City 2 > City 5 

 

Direction(45-48) : The bar chart given below shows the sales of 

3 types of cars in the indian automotive industry over 4 years. All 

the sales figure have been shows in terms of ‘000’ units. 

नीचे कदए गए दण्ड कचत् में भारतीर् मोटर उिोग िे 4 वर्ो में 3 प्रिार िी 

िारो ंिी कबक्री िो दिाषर्ा गर्ा है| कबक्री िे सभी आाँिड़ो िो ‘000’ इिाई िे 

रूप में दिाषर्ा गर्ा है| 

 
(45)Which of the following type of car has the highest increase in 

sales from 2009 to 2012? 

कनम्नकलक्तित में से किस प्रिार िी िार िी कबक्री में 2009 से 2012 ति 

अकिितम वृक्ति हुई है? 

SSCCGL201711AUG-S1 : 72 

(a) Hatchback / हैचबैि 

(b) Both SUV and Hatchback / एस. रू्. वी. तथा हैचबैि दोनो ं

(c) SUV / एस. रू्. वी. 

(d) Sedan / सेडान  

 

(46) What is the simple annual growth rate (in %) in the sales of 

SUV from 2009 to 2012? 

2009 से 2012 ति एस. रू्. वी. िी कबक्री में सािारण वाकर्षि वृक्ति दर (% में) 

कितनी है? 

SSCCGL201711AUG-S1 : 73 

(a) 90  (b) 100  (c) 133.33 (d) 150   

 

(47) What is the respective ratio of total sales of Sedan and total 

sales of SUV over the period of 4 years ? 

सेडान िी 4 वर्ों िी िुल कबक्री तथा एस. रू्. वी. िी 4 वर्ों िी िुल कबक्री िा 

क्रमिः अनुपात क्या है? 

SSCCGL201711AUG-S1 : 74 

(a) 23 : 31 (b) 29 : 39 (c) 43 : 31 (d) 76 : 47 

 

(48) If all the 3 categories increase by same rate in 2013 over 

2012 as they did in 2012 over 2011, then what will be the total 

approximate sales (in ‘000 units) of all the 3 categories taken 

together in year 2013 ? 

र्कद सभी शे्रकणर्ााँ 2013 में 2012 से उसी दर पर वृक्ति िरे कजस दर पर 

उन्ोनें 2012 में 2011 से िी थी, तो सभी 3 शे्रकणर्ो ंिी 2013 में िुल 

अनुमाकनत कबक्री (‘000 इिाई में) क्या होगी? 

SSCCGL201711AUG-S1 : 75 

(a) 2152  (b) 2345  (c) 3069  (d) 3568  

 

Direction (49-52) : The chart 1 given below shows the 

seregation of 40000000 candidates who have filled the from of 

an examination .pie chart 2 shows the segregation 35000000 

candidates w3ho were present in the examination .The 

segregation in both pie charts has baan done on the basis of 

theire highest qualification. 

कनचे कदए गए वृत कचत् 1 में 40000000 उम्मीदवारो ंिे कप्रथ्िरण िो दिाषर्ा 

गर्ा है ,कजह्न्नोने एि परीक्षा िा पचाष भरा है |वृत कचत् 2 में 35000000 

उम्मीदवारो ंिे कप्रथ्िरण िो दिाषर्ा गर्ा है ,जो परीक्षा में उपक्तस्थत हुए |दोनो ं

वृत कचत्ो ंमें कप्रथ्िरण उम्मीदवारो ंिी उच्चतम किक्षा िे आिार पर किर्ा गर्ा 

है | 

 
(49) If 18% of M.B.B.S. who have filled the form are from XYZ 

University, then how many M.B.B.S. candidates from XYZ 

University have filled the form? 

SSCCGL201712AUG-S1 : 72 

(a) 1512000  (b) 1224000 

(c) 1440000  (d) None of these 
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(50) What is the absolute difference in the B.Tech.\'s who have 

filled the form and M.B.A.\'s who were present in the 

examination? 

SSCCGL201712AUG-S1 : 73 

(a) 3500000  (b) 3000000 

(c) 4050000  (d) 4000000   

   

(51) 50% of others who have filled the form are B. Arch. and 45% 

of others who were present in the exam are B. Arch. How many 

B. Arch. candidates did not gave the exam? 

SSCCGL201712AUG-S1 : 74 

(a) 995000  (b) 685000 

(c) 430000  (d) 756000 

    

(52) Which highest qualification accounted for most number of 

absentees? 

SSCCGL201712AUG-S1 : 75 

(a) B.A.   (b) Others 

(c) B.com.  (d) None of these 

 

Direction(53-56) : The line chart given below shows the per 

acre yield ( in million tonnes) of tea of 7 countries. 

कनचे कदए गए रेिा कचत् में 7 देिो िे चार् िे प्रकत एिर उत्पादन (कमकलर्न 

तन में ) िो दिाषर्ा गर्ा है | 

 
(53) What is average per acre yield (in million tonnes) of these 7 

countries? 

इन 7 देिो ंिा औसत प्रकत एिड़ उत्पादन (कमकलर्न टन में) कितना है?  

SSCCGL201712AUG-S2 : 72 

(a) 163.14  (b) 184.28 

(c) 146.78  (d) 198.26   

   

(54) What is the respective ratio of average per acre yield of the 

3 countries having the highest yield to average per acre yield of 

the 3 countries having the least yield? 

सबसे अकिि उत्पादन वाले 3 देिो ंिे औसत प्रकत एिड़ उत्पादन और सबसे 

िम उत्पादन वाले 3 देिो ंिे औसत प्रकत एिड़ उत्पादन िा अनुपात क्रमिः 

क्या होगा?  

SSCCGL201712AUG-S2 : 73 

(a)148 : 65  (b) 201 : 149 

(c) 89 : 69  (d) 137 : 51 

   

(55) Total per acre yield of India and China is what percent of the 

total per acre yield of the remaining countries? 

भारत और चीन िा िुल प्रकत एिड़ उत्पादन, िेर् अन्य कदए गए देिो ंिे प्रकत 

एिड़ उत्पादन िा कितने प्रकतित है?  

SSCCGL201712AUG-S2 : 74 

(a) 44.34  (b) 56.68  (c) 83.24  (d) 79.66   

 

(56) All the countries are arranged in ascending order of per acre 

yield. If bottom 2 countries increases their per acre yield by 20% 

and all other countries increase their per acre yield by 10%, then 

what is the new average per acre yield (in million tonnes)? 

सभी देिो ंिो प्रकत एिड़ उत्पादन िे आरोही क्रम में व्यवक्तस्थत किर्ा गर्ा है। 

र्कद अंकतम 2 देि अपने प्रकत एिड़ उत्पादन में 20% िी वृक्ति िरते हैं और 

अन्य सभी देि अपने प्रकत एिड़ उत्पादन में 10% िी वृक्ति िरते हैं, तो प्रकत 

एिड़ नर्ा औसत उत्पादन (कमकलर्न टन में) कितना है?  

SSCCGL201712AUG-S2 : 75 

(a) 205.37  (b) 210.82 

(c) 201.19  (d) 199.26   

 

Direction (57-60) : The pie chart given below shows the 

percentage of time taken by different processes in making a car. 

नीचे कदरे् गए वृत्त कचत् में एि िार बनाने िी कवकभन्न प्रकक्रर्ाओ ंमें लगने वाले 

समर् िे प्रकतित िो दिाषर्ा गर्ा है|  

 
 

(57) If total time taken to make a car is 300 hours, then what is 

the total time (in hours) taken in paint and frame? 

र्कद िार बनाने में लगने वाला िुल समर् 300 घणे्ट हैं, तो रंग तथा ढांचे िे 

कलए िुल कितना समर् (घण्टो ंमें) कलर्ा गर्ा होगा? 

SSCCGL201710AUG-S3 : 72 

(a) 99  (b) 72  (c) 105  (d) 66 

 

(58) If time taken in seats is 192 hours, then what is the time 

taken (in hours) in glass? 

र्कद गकिर्ो ंमें कलर्ा गर्ा िुल समर् 192 घणे्ट हैं, तो िीिे में कितना समर् 

(घण्टो ंमें) कलर्ा गर्ा होगा? 

SSCCGL201710AUG-S3 : 73 

(a) 256  (b) 352  (c) 416  (d) 278 

 

(59) If total time taken in engine and tyres is 127.5 hours, then 

what is the difference (in hours) in time taken by frame and glass 

respectively? 

र्कद इंजन तथा पकहर्ो ंमें कलर्ा गर्ा िुल समर् 127.5 घणे्ट हैं, तो क्रमिः ढांचे 

तथा िीिे में कलए गए समर् िे बीच िा अंतर (घण्टो ंमें) कितना होगा? 

SSCCGL201710AUG-S3 : 74 

(a) 27.5  (b) 12.5  (c) 40  (d) 35 

 

(60) 15% of total time is spent on quality check and this time is 

equally taken from all other processes. So What will be the new 

sectorial angle (in degrees) made by total time of seats and 

glass? 
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िुल समर् िा 15% समर् गुणवत्ता परीक्षण में लगार्ा जाता है तथा र्ह समर् 

बािी सभी प्रकक्रर्ाओ ंिे समर् में से बराबर कलर्ा जाता है। तो गिी तथा िीिे 

िे िुल समर् िा नर्ा वृत्तिण्ड िोण (कडग्री में) कितना होगा? 

SSCCGL201710AUG-S3 : 75 

(a) 28.6  (b) 32.4  (c) 35.8  (d) 31.6 

 

Direction (61-64) The bar chart given below shows the seles (in 

‘000 units) of 4 mobile brands for 3 years. 

कनचे कदए गए दण्ड कचत् में मोबाइल ब्राण्ड िी 3 वर्ो िी कबक्री (‘000 इिाई 

में ) िो दिाषर्ा गर्ा है |  

 
(61) What is the percentage increase in number of mobile sold 

by Brand 2 from 2014 to 2015? 

 SSCCGL201712AUG-S3 : 72 

(a) 8.33  (b) 33.33  (c) 37.5  d) 11.11 

 

(62) What is the percentage increase in the total number of 

mobiles sold by these four brands from 2014 to 2016? 

 SSCCGL201712AUG-S3 : 73 

(a) 42.16  (b) 38.63  (c) 32.43  (d) 30.16 

 

(63)  In 2017 the sales of each brand increased by the same 

percentage as it did in the year 2016. What will be the 

approximate average sales (in units) of mobiles per brand in year 

2017? 

  

SSCCGL201712AUG-S3 : 74 

(a) 9175  (b) 8360  (c) 9436  (d) 9678 

 

(64) If for any year, the sales of a brand is more than average 

sales of these four brands in that year, then it gets a star. Which 

brand has the maximum stars? 

 SSCCGL201712AUG-S3 : 75 

(a) Brand 3   (b) Brand 3 and 4 both  

(c) Brand 4   (d) All brands  

 

Direction (65-68) :  the bar given below shows the number of 

cars parked in a multi-level parking from 6 am to 6 pm on a 

given day. 

नीचे कदए गए दण्ड कचत् में एि बहुमंकजल पाकििं ग में कदए गए किसी कदन में 

प्रात: 6 बजे से सारं् 6 बजे ति (प्रते्यि घंटे िे अंत में) िड़ी िी गई गाकडर्ो ं

िी संख्या िो दिाषर्ा गर्ा है| 

 
(65) What is the average number (approximately) of cars parked 

per hour from 6 am to 6 pm on the given day? 

कदए गए किसी कदन में पूवाषह्न 6 बजे से अपराहन 6 बजे ति प्रते्यि घणे्ट में 

िड़ी िी गई गाकड़र्ो ंिी औसत संख्या (लगभग) क्या है? 

SSCCGL201711AUG-S2 : 72 

(a) 80  (b) 85  (c) 73  (d) 78 

  

(66) At what time the percentage change in number of parked 

cars is the maximum? 

किस समर् पाकििं ग में िड़ी िी गई गाकड़र्ो ंिी संख्या िे प्रकतित में सबसे 

अकिि पररवतषन हुआ है? 

SSCCGL201711AUG-S2 : 73 

(a) 9 am to 10 am पूवाषहन 9 बजे से पूवाषहन 10 बजे ति 

(b) 12 pm to 1 pm अपराह्न 12 बजे से अपराह्न 1 बजे ति 

(c) 8 am to 9 am पूवाषहन 8 बजे से पूवाषहन 9 बजे ति 

(d) 6 am to 7 am पूवाषहन 6 बजे से पूवाषहन 7 बजे ति 

 

(67) For how many hours the number of parked cars is less than 

the average on the given day? 

कितने घण्टो ंिे कलए पाकििं ग में िड़ी िी गई गाकड़र्ो ंिी संख्या कदए गए कदन 

िे औसत से िम है? 

SSCCGL201711AUG-S2 : 74 

(a) 5  (b) 8  (c) 6  (d) 7 

 

(68) If the charges of parking are Rs 50 per hour, then what is the 

total income (in Rs) from 6 am to 6 pm on the given day? 

र्कद पाकििं ग िा िुल्क 50 रु. प्रकत घण्टा है, तो कदए गए कदन में पूवाषह्न 6 बजे से 

अपराह्न 6 बजे ति प्राप्त िुल िमाई (रु. में) कितनी है? 

SSCCGL201711AUG-S2 : 75 

(a) 55500 (b) 50500 

(c) 57500 (d) 59500   

Direction (69-72) :  The bar graph shows GDP for the year 2016 

in billion USD of six countries (A,B,C,D,E,F) of a regional trade 

block, study the diagram and answer the following questions. 

वार ग्राफ वर्ष 2016 में एि के्षत्ीर् व्यावसाकर्ि ब्लॉि िे छह देिो ं

(A,B,C,D,E,F) िा सिल राष्ट्र ीर् उत्पाद (अरब अमरीिी डालर में )दिाषता है 

|इस आरेि िा अध्यर्न िरे और कनम्नकलक्तित प्रश्ो ंिा उत्तर दे | 
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(69) Which country is the third biggest in terms of Gross 

Domestic Product (GDP)? 

सिल राष्‍ टर ीर् उत् पाद (जी डी पी) िे संबंि में िौन-सा देि तीसरे स् थन पर 

सबसे बड़ा है? 

SSCCGL201717AUG-S2 : 72 

(a) A  (b) C  (c) E  (d) F 

 

(70) By what amount (in billion USD) is the Gross Domestic 

Product (GDP) of Country A lesser than that of Country F? 

देि A िा सिल राष्‍ टीर् उत् पाद (जी डी पी), देि F से कितनी रािी (अरब 

अमरीिी डॉलर में) से िम है? 

SSCCGL201717AUG-S2 : 73 

(a) 20  (b) 50  (c) 25  (d) 40 

 

(71) What is the ratio of Gross Domestic Product (GDP) of 

Country E to Total of GDPs of countries A, C and F taken 

together? 

देि E िा देि A, C और F िे िुल सिल राक्तष्‍ टर र्ा उत्पाद (जी डी पी) से क् र्ा 

अनुपात है? 

SSCCGL201717AUG-S2 : 74 

(a) 3 : 5  (b) 5 : 3  (c) 9 : 5  (d) 5 : 9 

 

(72) If the combined GDP of the six countries has grown by 50% 

in the last decade, then what was their combined annual Gross 

Domestic Product (in billion USD) before 10 years? 

र्कद कपछले दिि में छह देिें संरु्क् त सिल राक्तष्‍ टर र् उत् पाद में 50% िी वृक्ति 

हुई हो, तो 10 वर्ष पहले उनिा संरु्क् त वाकर्षि सिल राक्तष्‍ टर र् उत् पाद (अरब 

अमरीिी डॉलर में) कितना होगा? 

SSCCGL201717AUG-S2 : 75 

(a) 540  (b) 180  (c) 240  (d) 200 

 

Direction (73-76) :  The bar chart given below shows the 

number of audience in a multiscreen theatre for 3 shows. 

कनचे कदए गए दण्ड कचत् में एि बहुपदे वाले कसनेमाघर में 3 िार्षक्रमो ंिे कलए 

दिषिो िी संख्या िो दिाषता गर्ा है | 

 
(73) What is the percentage increase in the number of audience 

in Screen 1 from second show to third show? 

पदे 1 पर दूसरे िार्षक्रम से तीसरे िार्षक्रम िे कलए दिषिो ंिी संख्या में 

कितने प्रकतित िी वृक्ति हुई है? 

SSCCGL201709AUG-S3 : 72 

(a) 50  (b) 100  (c) 120  (d) 150     

 

(74) For the second show the number of audience in Screen 3 is 

how much more than the number of audience in Screen 1 ? 

दूसरे िार्षक्रम िे कलए पदे 1 पर बैठे दिषिो ंिी संख्या  पदे 3 पर बैठे दिषिो ं

िी संख्या से कितनी अकिि है? 

SSCCGL201709AUG-S3 : 73 

(a) 500  (b) 350  (c) 400  (d) 450     

 

(75) What is the percentage increase in the total number of 

audience from second show to third show? 

दूसरे िार्षक्रम से तीसरे िार्षक्रम िे कलए िुल दिषिो ंिी संख्या में कितने 

प्रकतित िी वृक्ति हुई है? 

SSCCGL201709AUG-S3 : 74 

(a) 20.69  (b) 25.13  (c) 22.24  (d) 18.15   

 

(76) If the tickets for Screen 1, Screen 2 and Screen 3 are Rs 350, 

Rs 300 and Rs 250 respectively, then which screen has the 

maximum total revenue for three shows? 

र्कद पदे 1, 2 तथा 3 िे कलए कटिटो ंिा मूल्य क्रमिः 350 रु., 300 रु. तथा 

250 रु. है, तो तीनो ंिार्षक्रमो ंिे कलए किस पदे िी िुल िमाई सवाषकिि है? 

SSCCGL201709AUG-S3 : 75 

(a) Screen 1  (b) Screen 1 and Screen 3 

(c) Screen 2  (d) Screen 3 

 

Direction (78-80) :  The line chart given below shows the ratio 

of production to sales of two bike-manufacturing firms over the 

period of 6 years. 

कनचे कदए गए रेिा कचत् में दो बाइि कवकनमाषण िंपकनर्ो ंिे 6 वर्ो िी अवकि 

में हुए उत्पादन तथा कबक्री िे अनुपात िो दिाषर्ा गर्ा है | 

Assume if in any year sales is more than production then both 

the companies has suffcient stock to meet such instances. 

मान लीकजए र्कद किसी वर्ष कबक्री , उत्पादन से अकिि है तो ऐसी पररक्तस्थकतर्ो ं

िे कलए दोनो ंिंम्पकनर्ो ंिे पास पर्ाषप्त भण्डार है| 
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(77) If the sales of company 1 in year 2015 was 50000 units, then 

what was its production (in units) in year 2015? 

र्कद िंपनी 1 वर्र् 2015 में 50000 इिाई कबक्री िरती है, तो वर्ष 2015 में 

उसिा उत् पादन (इिाई में) क् र्ा होगा? 

SSCCGL201716AUG-S3 : 72 

(a) 38460 (b) 45000 (c) 52000 (d) 65000 

 

(78) The production of company 2 in year 2012 is 30000. If sales 

of company 2 in year 2012 and 2013 is same, then what was its 

production (in units) in year 2013? 

िंपनी 2 िा वर्ष 2012 िा उत् पादन 30000 है। र्कद वर्ष 2012 और 2013 में 

िंपनी 2 िी कबक्री बराबर है, तो वर्ष 2013 में इसिा उत् पादन (इिाई में) 

कितना था? 

SSCCGL201716AUG-S3 : 73 

(a) 100000 (b) 16000 (c) 30000 (d) 20000 

 

(79) The production of company 1 in year 2014 is 18000 and 

sales of company 2 in year 2012 is 15000. What is the ratio of 

difference in sales and production of company 1 in year 2014 

and company 2 in year 2012 ? 

िंपकन 1 िा वर्ष 2014 िा उत् पादन 18000 है तथा िंपनी 2 िी वर्ष 2012 में 

िंपनी कबक्री 15000 है। वर्ष 2014 में िंपनी 1 तथा वर्ष 2012 में कबक्री 

15000 है। वर्ष 2014 में िंपनी 1 तथा वर्ष 2012 में िंवपर 2 िर कबक्री तथा 

उत् पादन िे अंतर िा अनुपात क् र्ा है? 

SSCCGL201716AUG-S3 : 74 

(a) 8 : 15  (b) 7 : 16  (c) 9 : 11  (d) 3 : 8 

 

(80) Company 1 sold 20000 bikes each year from 2011 to 2016 

and company 2 sold 10000 bikes each year from 2011 to 2016. 

What is the difference (in units) in average yearly production of 

company 1 and 2? 

िंपनी 1 ने 2011 से 2016 ति प्रत् रे्ि वर्ष 20000 बाईि बेची तथा िंपनी 2 

ने 2011 से 2016 ति प्रत् रे्ि वर्ष 10000 बाईि बेची। िंपनी 1 तथा िंपनी 

2 िे औसत वाकर्षि उत् पादन में कितना अंतर (इिाई में) है? 

SSCCGL201716AUG-S3 : 75 

(a) 6733.33 (b) 7500 (c) 8666.66 (d) 9333.33 

 

Direction (81-85) : The pic chart shows tickets sold (in 1000s) 

per month by six different airlines (A,B,C,D,E,F). Study the 

diagram and answerthe following questions. 

पाई चाटष छह कभन्न -कभन्न एर्रलाईन्स ( A,B,C,D,E,F) द्वारा प्रकत माह बेचे जाने 

वाली कटिटे (हजारो में ) दिाषता है | इस आरेि िा अध्यर्न िरे और 

कनम्नकलक्तित प्रश्ो ंिा उत्तर दे | 

 
(81) Which airline sold the second highest number of tickets? 

कटिटो ंिी दूसरी सबसे अकिि कबक्री िरने वाली एर्रलाइन िौन-सी है? 

SSCCGL201717AUG-S3 : 72 

(a) E  (b) A  (c) B  (d) D 

 

(82) Airline E sold how many more tickets than Airline A? 

एर्रलाइन E ने एर्रलाइन A िी तुलना में कितनी अकिि कटिटें बेची? 

SSCCGL201717AUG-S3 : 73 

(a) 25  (b) 16  (c) 20  (d) 10 

 

(83) The ratio of tickets sold by Airlines A and D to tickets sold 

by Airline E is? 

एर्रलाइन A और D द्वारा बेची गई कटिटो ंिा एर्रलाईन E द्वारा बेची गई 

कटिटो ंसे अनुपात कितना है? 

SSCCGL201717AUG-S3 : 74 

(a) 3 : 4  (b) 4 : 3  (c) 2 : 3  (d) 4 : 1 

 

(84) If the price of an airline ticket is Rs 7000 then by what 

amount, monthly Revenue (in Rs. Millions) from sale of tickets of 

Airline B is greater than that of Airline E? 

र्कद एर्रलाइन कटिट िी िीमत 7000 रु है तो एर्रलाइन B द्वारा बेची जाने 

वाली कटिटो ंसे हुई माकसि राजस् व (दस लाि रु में) एर्रलाइन E िे मुिाबले 

कितनी अकिि होगी? 

SSCCGL201717AUG-S3 : 75 

(a) 77  (b) 7  (c) 35  (d) 42 

 

Direction (85-88) :   The line graph shows the record of number 

of admissions to a certain coaching center from 2011-2016. 

Study the diagram and answer the following questions. 

लाइन ग्राफ 2011 से 2016 ति एि कनकित िोकचंग सेंटर में दाक्तिले िी 

संख्या िा ररिॉडष कदिता है| इस आरेि िा अध्यर्न िरें  और कनम्नकलक्तित 

प्रश्ो ंिा उत्तर दें | 

 
(85)In how many years was the number of admissions greater 

than that of the previous year? 

कितने वर्ों में कपछले वर्ष्ष िी तुलना में दाक्तिलो ंिी संख् र्ा अकिि थी? 

SSCCGL201718AUG-S2 : 72 

(a) 2  (b) 3  (c) 1  (d) 4 

 

(86)  Ignoring year 2016 how many students took admission in 
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the coaching centre since its inception in the year 2011? 

वर्ष 2016 िो छोड़िर, वर्ष 2011 िे आरंभ िे बाद से कितने छात्ो ंने 

िोकचंग सेंटर में दाक्तिला कलर्ा? 

SSCCGL201718AUG-S2 : 73 

(a) 1300  (b) 1200  (c) 900  (d) 1000 

 

(87) Admissions in the year 2014 grew by _______ percent as 

compared to the previous year. 

कपछले वर्ष िी तुलना में वर्ष 2014 में दाक्तिलो ंमें ----------- प्रकतित िी 

वृक्ति हुई। 

SSCCGL201718AUG-S2 : 74 

(a) 50  (b) 100  (c) 40  (d) 66.67 

 

(88) If fees charged by the coaching centre was Rs 10000 for the 

first 3 years and Rs 12000 for the next three years then what is 

the total fees (in Rs. Crores) collected by the coaching centre in 

the last six years? 

र्कद िोकचंग सेंटर िा िुल् ि प्रथम 3 वर्ों िे कलए 1000 रु. और आगे तीन 

वर्ों िे कलए 12000 रु हो तो कपछले छह वर्ों में िोकचंग सेंटर द्वारा एित् िी 

गई िुल िुल् ि (िरोड़ रु. में) कितनी थी? 

SSCCGL201718AUG-S2 : 75 

(a) 1.48  (b) 1.38  (c) 1.28  (d) 1.18 

 

Direction (89-92) :  The pie chart shows the annual car 

production (in millions) of six countries (A, B, C, D, E, F) study the 

diagram and answer the following questions. 

पाई चाटष छह देिो ं(A, B, C, D, E, F) िा वाकर्षि िार उत्पादन (दस लाि में) 

दिाषता हैं| इस आरेि िा अध्यर्न िरें  और कनम्नकलक्तित प्रश्ो ंिा उत्तर दें | 

 
Which country produced the second least number of cars? 

किस देि मे दूसरे स् थान पर सबसे िम गाकड़र्ो ंिा उत् पादन हुआ? 

SSCCGL201718AUG-S3 : 72 

(a) D  (b) F  (c) C  (d) A 

 

(90)   

 

ntry E produced how many more cars (in %) than country B? 

देि E ने देि B िी तुलना में कितनी अकिि (% में) गाकड़र्ो ंिा कनमाषण 

किर्ा? 

SSCCGL201718AUG-S3 : 73 

(a) 10  (b) 12.5  (c) 11.11  (d) 8 

 

(91) % of the cars produced by these six countries are diesel and 

the rest are petrol, then how many petrol cars were produced (in 

millions)? 

र्कद इन छह देिो ंद्वारा कनकमषत गाकड़र्ो ंमें से 35% डीजल गाकड़र्ां हैं और 

िेष्‍ ज्ञ पेटर ोल गाकडर्ो ंिा उत् पादन (दस लाि में) किर्ा गर्ा? 

SSCCGL201718AUG-S3 : 74 

(a) 1.755  (b) 0.945  (c) 2.7  (d) 1.8 

 

(92) If on an average the cost price of a car is 30000 USD and 

environmental tax levied on each car is 2.5% of its cost price, 

how much environmental tax was collected (in billion USD) from 

production of cars in these 6 countries? 

र्कद एि गाड़ी िी औसतन लागत 30000 अमरीिी डॉलर हो और प्रत् रे्ि 

गाड़ी पर लगाए गए पर्ाषवरण टैक् स इसिी लागत िीमत िा 2.5% है तो इन 

6 देिो ंमें गाकड़र्ो ंिे उत् पादन से कितना पर्ाषवरण िर (अरब अमेरीिी डॉलर 

में) एित् किर्ा जाएगा? 

SSCCGL201718AUG-S3 : 75 

(a) 1.03  (b) 2.03  (c) 3.03  (d) 4.03 

 

Direction (93-96) :  The bar graph shows annual inflation in two 

years 2015 and 2016 of four countries (A,B,C,D), study the 

diagram and answer the following questions. 

बार ग्राफ दो वर्ष 2015 और 2016 में चार देिो (A,B,C,D) िी वाकर्षि 

मुद्रास्फीकत दिाषता है | इस आरेि िा अध्यर्न िरे और कनम्नकलक्तित प्रश्ो ंिा 

उत्तर दे | 

 
(93) In which country inflation in 2016 was lower than that of the 

previous year? 

वर्ष 2016 में किस देि िी मुद्रस् फीकत कपछले वर्ष िी तुलना में िम थी? 

SSCCGL201718AUG-S1 : 72 

(a) C  (b) A  (c) B  (d) D 

 

(94) By what percent inflation in 2016 was greater than the 

inflation in 2015 in country D? 

देि D में वर्ष 2016 में हुई मुद्रास् फीकत, 2015 में हुई मुद्रास् फीकत, िी तुलना में 

कितनी प्रकतित अकिि थी? 

SSCCGL201718AUG-S1 : 73 

(a) 60  (b) 100  (c) 150  (d) 120 

 

(95) In the year 2015, what is the ratio of inflation in country C to 

country A? 

वर्ष 2015 में देि A और C िे मध् र् मुद्रास् फीकत िा अनुपात कितना है? 

SSCCGL201718AUG-S1 : 74 

(a) 1 : 2  (b) 2 : 3  (c) 3 : 2  (d) 2 : 1 

 

(96) If inflation is measured as increase in price index and the 

price index was 200 in the beginning of 2015 in country D then 

what is the index at the end of 2016? 

र्कद मुद्रा स् फीकत सूचिांि में वृक्ति िे तौर पर मापा जाए और देि D में 2015 

िे आरंभ में मूल् र् सूचिांि 200 था तो 2016 िे अंत में सूचिांि कितना 

होगा? 

SSCCGL201718AUG-S1 : 75 

(a) 207  (b) 207.2  (c) 210  (d) 214.2 

 

Direction (97-100) : The bar graph shows revenues in rupees 

lakhs from selling four different products (a, B, C, D) by a certain 

company. Study the diagram amd answer the following 

questuions. 

बार ग्राफ एि कनकित िंपनी िो चार कभन्न-कभन्न उत्पादो ं(A, B, C, D) िी 
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कबक्री से हुई राजस्व (रूपरे् लािो ंमें) दिाषता है| इस आरेि िा अध्यर्न िरें  

और कनम्नकलक्तित प्रश्ो ंिा उत्तर दें | 

 
(97) Revenues from which product were the least in both the 

years 2015 and 2016? 

वर्ष 2015 और वर्ष 2016 में किस उत् पाद िा राजस् व सबसे िम था? 

SSCCGL201719AUG-S1 : 72 

(a) D  (b) A  (c) B  (d) C 

 

(98) By what value (in %) the revenue from sale of product B in 

2016 was greater than that of 2015? 

वर्ष 2016 में उत् पाद B िी कबक्री से हुआ राजस् व वर्ष 2015 िी तुलना में 

कितना (% में) अकिि था? 

SSCCGL201719AUG-S1 : 73 

(a) 0.5  (b) 5  (c) 25  (d) 2 

 

(99) By what amount (in Rs crore) the total revenue by selling all 

the four products in 2016 is greater than that of 2015 ? 

2016 में सभी चार उत् पादो ंिी कबक्री से हुआ िुल राजस् व वर्ष 2015 िी 

तुलना में कितना अकिि (िरोड़ रु. में) है? 

SSCCGL201719AUG-S1 : 74 

(a) 1  (b) 0.75  (c) 1.5  (d) 1.25 

 

(100) If the cost of producing and selling the four products was 

Rs 10 crores each in 2015 and 2016 then what is the cumulative 

profit (in Rs Lakhs) earned in the years 2015 and 2016? 

र्कद वर्ष 2015 और वर्ष 2016 में चारो ंउत् पादो ंिे उत् पादन और कबक्री िी 

लागत प्रत् रे्ि वर्ष 10 िरोड़ रुपए थी तो 2015 और वर्ष 2016 में कितना 

संचाकर्त लाभ (लािो ंमें) अकजषत हुआ? 

SSCCGL201719AUG-S1 : 75 

(a) 75  (b) 25  (c) 50  (d) 100 

 

Direction (102-105):  The pie chart given below shows the runs 

scored by pujara against team of different countries. 

कनचे कदए गए कचत् में पुजारा िे द्वारा कवकभन्न देिो ंिी कक्रिेट टीमो िे कवरुि 

बनाए गए रनो ंिो दिाषर्ा गर्ा है | 

 

SSCCGL201716AUG-S1 : 71 

(101)  

 

(102) The runs scored by Pujara against South Africa is more 

than runs scored against Bangladesh by what percentage? 

पुजारा द्वारा दकक्षण अकििा िे कवरूि बनाए गए रन, उसिे द्वारा बांग्लादेि 

िे कवरूि बनाए गए रनो ंसे कितने प्रकतित अकिि है? 

SSCCGL201716AUG-S1 : 72 

(a) 100  (b) 150  (c) 200  (d) 250 

 

(103) f Pujara has scored 1875 runs in total, then what is the 

difference in runs scored by Pujara against South Africa and New 

Zealand? 

र्कद पुजारा ने िुल 1875 रन बनाए, तो पुजारा द्वारा दकक्षण अकििा और 

नू्यजीलैंड िे कवरूि बनाए गए रनो ंिे मध्य अंतर कितना है? 

SSCCGL201716AUG-S1 : 73 

(a) 150  (b) 175  (c) 200  (d) 250 

 

(104) What is the sectorial angle (in degrees) made by the runs 

scored against Australia in the given pie chart? 

कदए गए पाइचाटष में ऑस्ट्र ेकलर्ा िे कवरूि बनाए गए रनो ंिा कत्ज्यिंड िोण 

(कडग्री में) कितना है? 

SSCCGL201716AUG-S1 : 74 

(a) 106.8  (b) 109.6  (c) 112.4  (d) 115.2 

 

(105) What should be the least number of runs that Pujara must 

have scored in total (runs can only be integers)? 

पुजारा द्वारा बनाए गए िुल रनो ंिी नू्यनतम संख्या कितनी होनी चाकहए (रन 

िेवल पूणािंि हो सिते हैं )? 

SSCCGL201716AUG-S1 : 75 

(a) 25  (b) 225  (c) 375  (d) 625 

 

 

Direction (109-109) : The pie chart given below shows the runs 

scored by a player against 6 different countries. The total runs 

scored by the player against these countries are 1600. 

कनचे कदए गए वृत कचत् में एि क्तिलाड़ी िे द्वारा 6 कवकभन्न देिो िे कवरुि बनाए 

गए रनो ंिो दिाषर्ा गर्ा है | क्तिलाड़ी िे द्वारा इन देिो ंिे कवरुि बनाए गए 

िुल रन 1600 है | 

 
(106) How many runs has the player scored against Pakistan? 

पाकिस्तान िे कवरुि क्तिलाड़ी ने कितने रन बनाए? 

SSCCGL201716AUG-S2 : 72 

(a) 272  (b) 192  (c) 256  (d) 144 

 

(107) The difference between the runs scored against England 
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and Pakistan is same as the difference between which of the 

following two countries? 

इंगै्लण्ड और पाकिस्तान िे कवरुि बनाए गए रनो ंिे बीच िा अंतर, 

कनम्नकलक्तित में से किन दो देिो ंिे कवरुि बनारे् गए रनो ंिे बीच अंतर िे 

समान है? 

SSCCGL201716AUG-S2 : 73 

(a) South Africa and Sri Lanka / दकक्षण अिीिा और श्रीलंिा  

(b) South Africa and New Zealand / दकक्षण अिीिा और नू्यजीलैंड 

(c) Australia and Sri Lanka / ऑस्ट्र ेकलर्ा और श्रीलंिा  

(d) Australia and New Zealand / ऑस्ट्र ेकलर्ा और नू्यजीलैंड  

 

(108) What is the difference in runs scored by the player against 

Australia and Sri Lanka? 

क्तिलाड़ी द्वारा ऑस्ट्र ेकलर्ा और श्रीलंिा िे कवरुि बनाए गए रनो ंिे बीच अंतर 

कितना है? 

SSCCGL201716AUG-S2 : 74 

(a) 256  (b) 128  (c) 114  (d) 80 

 

(109) Difference between the total runs scored against Australia 

and New Zealand and the total runs scored against Sri Lanka and 

Pakistan make what sectorial angle (in degrees) in the pie chart? 

ऑस्ट्र ेकलर्ा और नू्यजीलैंड िे कवरुि बनाए गए िुल रनो ंतथा श्रीलंिा और 

पाकिस्तान िे कवरुि बनाए गए िुल रनो ंिे बीच िा अंतर पाई-चाटष में 

कितना वृत्तिंड िोण (कडग्री. में) बनाता है? 

SSCCGL201716AUG-S2 : 75 

(a) 90  (b) 144  (c) 36  (d) 72 

 

Direction (110-113) : The graph shows Net export in million 

USD of a certaion country (Net exports = Export – Import), Study 

the diagram amd answer the following questuions. 

लाइन ग्राफ एि कनकित देि िा िुि कनर्ाषत (दस लाि अमरीिी डालर में) 

दिाषता है| (िुि कनर्ाषत = कनर्ाषत – आर्ात)| इस आरेि िा अध्यर्न िरें  और 

कनम्नकलक्तित प्रश्ो ंिा उत्तर दें | 

 
(110) In how many years were the net exports more than that of 

the previous year? 

कितने वर्ों में िुल कनर्ाषत कपछले वर्ष िी तुलना में अकिि था? 

SSCCGL201719AUG-S2 : 72 

(a) 1  (b) 3  (c) 4  (d) 2 

 

(111) If the exports in 2013 were 90 million USD then what was 

the imports (in million USD)? 

र्कद 2013 में कनर्ाषत 90 कमकलर्न अमरीिी डॉलर हुआ तो आर्ात (दस लाि 

अमरीिी डॉलर में) कितना था? 

SSCCGL201719AUG-S2 : 73 

(a) 80  (b) 110  (c) 70  (d) 100 

 

(112) What is the ratio of net exports in year 2016 to that in year 

2012? 

वर्ष 2016 िी तुलना में वर्ष 2012 में िुल कनर्ाषत िा अनुपात कितना था? 

SSCCGL201719AUG-S2 : 74 

(a) 2 : 3  (b) 3 : 1  (c) 1 : 3  (d) 3 : 2 

 

(113) Cumulative net exports (in million USD) from the beginning 

of 2012 to the end of 2015 was? 

2012 िे आरंम् भ से लेिर 2015 िे अंत ति संचकर्त िुल कनर्ाषत (दस लाि 

अमरीिी डॉलर में) कितना था? 

SSCCGL201719AUG-S2 : 75 

(a) 80  (b) 40  (c) 20  (d) 60 

 

Direction (114-117) : Students from different countries 

(A,B,C,D,E,F) participated in a certain seminar. The pie chart 

shows how many students came from each of the six 

participating countries. Study the diagram and answer the 

following questions. 

कवकभन्न देिो (A,B,C,D,E,F) से आए छात्ो ंने एि कवकिष्ट् सेकमनार में भाग कलर्ा 

| पाई चाटष र्ह दिाषता है िी छह प्रकतभागी देिो में से प्रते्यि में कितने छात् 

आए है |इस आरेि िा अध्यर्न िरे और कनम्नकलक्तित प्रश्ो ंिा उत्तर दे | 

 
(114) The biggest contingent of students was from which 

country? 

छात्ो ंिा सबसे बड़ा दल किस देि से था? 

SSCCGL201719AUG-S3 : 72 

(a) A  (b) C  (c) B  (d) D 

 

(115) What is the angular measure (in degrees) of the sector 

representing Country A? 

देि A िो दिाषने वाले के्षत् िा िोणीर् माप (कडग्री में) क् र्ा है? 

SSCCGL201719AUG-S3 : 73 

(a) 100  (b) 25  (c) 50  (d) 120 

 

(116) By what count (in %) students from Country B at the 

seminar were more than the students from Country E? 

सेकमनार में देि B िे छात्, देि E िे छात्ो ंिी तुलना में कितने अकिि (%में) 

थे? 

SSCCGL201719AUG-S3 : 74 

(a) 40  (b) 200  (c) 20  (d) 18 

 

(117) If the cost of total spending on transport for the seminar 

was Rs 9 lakhs and the cost of hosting the students was Rs 

15000 per student then what was the ratio of hosting cost of all 

the students to that of spending on transport? 

र्कद सेकमनार िे कलए पररवहन पर िुल िचष 9 लाि हुआ हो और छात्ो ंिी 
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मेजबानी पर 15000 प्रकत छात् िी लागत आई तो सभी छात्ो ंिी मेजबानी पर 

हुई लागत और पररवहन पर व् र्र् िा अनुपात क् र्ा होगा? 

SSCCGL201719AUG-S3 : 75 

(a) 2 : 5  (b) 3 : 2  (c) 1 : 1  (d) 1 : 2 

 

Direction (118-121): The bar graph shows the population 

density of 6 countries. Study the diagram and answer the 

following questions. 

र्ह बार लेिकचत् 6 देिो ंिी आबादी घनत्व िो दिाषता है | इस आरेि िा 

अध्यर्न िरे और कनम्नकलक्तित प्रश्ो ंिे उत्तर दे | 

 
(118) What is the ratio of the population densities of country C 

to country D? 

C से देि D िी जनसंख् र्ा घनत् व िा अनुपात क् र्ा है? 

SSCCGL201720AUG-S1 : 72 

(a) 3 : 4  (b) 4 : 3  (c) 5 : 4  (d) 4 : 5 

 

(119) What is the difference in the average number of people 

living per 1,000 sq km in countries E and F? 

E और F देिो ंमें प्रकत 1,000 वगष किमी. में रहने वाले लोगो ंिी औसत संख् र्ा 

में अंतर कितना है? 

SSCCGL201720AUG-S1 : 73 

(a) 250  (b) 4000  (c) 400  (d) 2500 

 

(120) Population density of country E is greater than population 

density of country D by: 

देि E िी जनसंख् र्ा घनत् व देि D िे जनसंख् र्ा घनत् व से कितनी अकिि है? 

SSCCGL201720AUG-S1 : 74 

(a) 50%  (b) 100%  (c) 200%  (d) 300% 

 

(121) If area of country B is 20,00,000 sq km, what is its 

population? 

र्कद देि B िा के्षत्फल 20,00,000 वगष किमी. है, तो इसिी जनसंख् र्ा 

कितनी है? 

SSCCGL201720AUG-S1 : 75 

(a) 10000000  (b) 2500000 

(c) 25000000  (d) 1000000 

 

Direction (122-125) : The pie chart shows the votes in 1000s 

polled in favour of six condidates (A, B, C, D, E, F) contesting for a 

particular seat. Study the diagram and answer the following 

questions. 

पाइ चाटष एि सीट िे कलए चुनाव लड़ रहे छह उम्मीदवारो ं(A, B, C, D, E, F) 

िे पक्ष में कमले मत(हजारो ंमें) दिाषता है। इस ग्राफ िा अध्यर्न िीकजए और 

कनम्नकलक्तित प्रश्ो ंिे उत्तर दीकजए। 

 
(122) If Candidate A is disqualified then which candidate will be 

declared the winner? 

र्कद उम् मीदवार A िो अर्ोग् र् घोकर्त िर कदर्ा जाता है तो किस उम् मीदवार 

िो कवजेता घेकर्त किर्ा जाएगा? 

SSCCGL201721AUG-S1 : 72 

(a) E  (b) B  (c) F  (d) D 

 

(123) The winning candidate got how many more votes than the 

one who came second? 

कवजेता उम् मीदवार िो दूसरे स्थान पर आने वाले उम् मीदवार िी तुलना में 

कितने अकिि वोट कमले? 

SSCCGL201721AUG-S1 : 73 

(a) 6000  (b)5000  (c) 11000 (d) 7000 

 

(124) Analysts believe that if candidate E had not stood in the 

fray then votes that he got would have been equally divided 

between F and C, then what would have been the result? 

कव‍ लेर्िो ंिा मानना है कि र्कद उम् मीदवार E चुनाव में न िड़ा होता तो उसे 

कमले वोट F और C िे मध् र् बराबर कवभाकजत हो जाते तो, इसिा पररणाम क् र्ा 

होता? 

SSCCGL201721AUG-S1 : 74 

(a) A would have lost by 1000 votes / A 1000 वोटो ंसे हार जाता 

(b) F would have won by 2000 votes / F 2000 वोटो ंसे जीत जाता 

(c) F would have lost by 2000 votes / F 2000 वोटो ंसे हार जाता 

(d) A would have won by 1000 votes / A 1000 वोटो ंसे जीत जाता 

 

(125) If voting attendance was 60% then how many names must 

be there in the voter list? 

र्कद मतदान 60% हुआ हो तो मतदाता सूची में कितने नाम होगें? 

SSCCGL201721AUG-S1 : 75 

(a) 225000  (b) 90000 

(c) 144000  (d) 150000 

 

Direction (126-129): The pie chart shows the share of tiger 

population six wild life sanctuaries (A, B, C, D, E, F) of a country. 

Study the diagram and answer the following questions. 

पाई चाटष देि में छह वन्य जीवन अभर्ारण्ो ं(A, B, C, D, E, F) में बाघो ंिी 

जनसंख्या िा कहस्सा दिाषता है| इस आरेि िा अध्यर्न िरें  और कनम्नकलक्तित 

प्रश्ो ंिा उत्तर दें | 
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(126) Which wild life sanctuary has more tigers than D but less 

than F? 

किस वन् र् जीवन अभ्यारण् र् में D िी तुलना में अकिि और F िी तुलना में 

िम बाघ है? 

SSCCGL201721AUG-S2 : 72 

(a) C  (b) A  (c) E  (d) B 

 

(127) What will be the total number of tigers left in the six 

sanctuaries, if 3 tigers are killed by poachers in sanctuary E and 9 

tigers are added to sanctuary A? 

र्कद अभ् र्ारण् E में 3 बाघ कििाररर्ो ंद्वारा मारे जाएं और अभ् र्ारण् र् A में 9 

बाघ लाए जाएं तो छह अभ् र्ारण् र्ो ंमें िुल कितने बाघ होगें? 

SSCCGL201721AUG-S2 : 73 

(a) 93  (b) 96  (c) 99  (d) 95 

 

(128) What is the ratio of tigers in sanctuaries E and F to that of 

tigers in sanctuaries D and C? 

अभ् र्ारण् र्ो ंE और F िे बाघो ंऔर अभ् र्ारण् र्ो ंD और C िे बाघो ंिा अनुपात 

क् र्ा है? 

SSCCGL201721AUG-S2 : 74 

(a) 3 : 7  (b) 7 : 3  (c) 5 : 2  (d) 2 : 5 

 

(129) If the total tiger population in these six sanctuaries had 

grown by 20% and 25% in the previous two decades, then what 

was the total tiger population in these six sanctuaries before 20 

years? 

र्कद कपछले दो दिि में इन छह अभ् र्ारण् र्ो ंमें बाघो ंिी िुल संख् र्ा में 20% 

और 25% िी वृक्ति हुई है, तो 20 साल पहले इन छह अभ् र्ारण् र्ो ंमें िुल बाघो ं

िी जनसंख् र्ा कितनी थी? 

SSCCGL201721AUG-S2 : 75 

(a) 135  (b) 150  (c) 60  (d) 45 

 

Direction (130-133) : The table below shows the number of 

students of a college studying Arts, Science, Commerce and 

Business for given 5 years. 

नीचे दी गई ताकलिा में एि महाकविालर् में कदए गए 5 वर्ो में िला, कवज्ञान, 

वाकणज्य तथा व्यवसार् पढ़ने वाले छात्ो िी संख्या िो दिाषर्ा गर्ा है| 

 
(130) What is the percentage increase in number of students of 

Commerce from 2012 to 2016? 

2012 से 2016 ति वाकणज्य िे छात्ो ंिी संख्या में कितने प्रकतित िी वृक्ति 

हुई है? 

SSCCGL201705AUG-S1 : 72 

(a) 11.16  (b) 17.28  (c) 13.51  (d) 15.67 

 

(131) What is the simple annual growth rate (in %) of the number 

of students of Business from 2012 to 2016? 

2012 से 2016 ति व्यवसार् िे छात्ो ंिी वाकर्षि सामान्य वृक्ति दर (% में) 

कितनी है? 

SSCCGL201705AUG-S1 : 73 

(a) 10  (b) 12.5  (c) 15  (d) 17.5 

 

(132) What is the ratio of average number of students studying 

Arts per year and average number of students studying Science 

per year? 

िला पढ़ने वाले छात्ो ंिी संख्या िी वाकर्षि औसत तथा कवज्ञान पढ़ने वाले 

छात्ो ंिी संख्या िी वाकर्षि औसत िा अनुपात क्या है? 

SSCCGL201705AUG-S1 : 74 

(a) 169 : 331  (b) 66 : 169 

(c) 127 : 261  (d) 32 : 75 

 

(133) Which year shows the maximum percentage increase in the 

total number of students in these 4 subjects over the previous 

year? 

इन 4 कवर्र्ो ंिे िुल छात्ो ंिी संख्या में किस वर्ष से सबसे अकिि प्रकतित 

वृक्ति हुई है? 

SSCCGL201705AUG-S1 : 75 

(a) 2013  (b) 2014  (c) 2015  (d) 2016 

 

Direction (134-137) : The pie chart given below shows the 

number of shoes of 5 different brands in a multi brand store. 

There are total 1200 shoes. 

नीचे कदए गए वृत कचत् में एि बहुब्राण्ड दुिान पर 5 कवकभन्न ब्राण्डो िे जूतो ं

िी संख्या िो दिषर्ा गर्ा है | र्हााँ िुल 1200 जूतो ंहै | 

 
How many shoes are there of Reebok brand? 

ररबोि ब्राण्ड िे कितने जूते है ? 

SSCCGL201708AUG-S1 : 72 

(a) 230  (b) 276  (c) 286  (d) 216 

 

(135)  What is the difference in number of shoes of Puma and 

Vans? 

पू्यमा तथा वैन्स िे जूतो ंकि संख्या में कितना अंतर है? 

SSCCGL201708AUG-S1 : 73 

(a) 96  (b) 156  (c) 84  (d) 112 

 

(136)  The difference between the number of shoes of Reebok 

and Nike is same as the difference between which of the 
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following two brands? 

ररबोि तथा नाईिी ब्राण्ड िे जूतो ंिे कबच कि संख्या िा अंतर कनम्नकलक्तित में 

से किन दो ब्राण्ड िे जूतो ंिे कबच कि संख्या िे अंतर िे समान है? 

SSCCGL201708AUG-S1 : 74 

(a) Puma and Adidas / पू्यमा तथा एकडडास 

(b) Reebok and Adidas / ररबोि तथा एकडडास 

(c) Vans and Nike / वैन्स तथा नाइकि 

(d) Nike and Adidas / नाइिी तथा एकडडास 

 

(137)  Puma shoes are how much percent more than the Nike 

Shoes? 

पू्यमा िे जूते नाइिी िे जूतो ंसे कितनी प्रकतित अकिि है? 

SSCCGL201708AUG-S1 : 75 

(a) 14.28  (b) 16.66  (c) 25  (d) 21.33 

 

Direction (138-141) : A survey was conducted to find what 

genre of movies pople liked the most. 1200 people answered the 

survey. The pie chart shows the result of that …survey. The 

numbers in the pie chart are the ratios. Study the diagram and 

answerd the following questions. 

लोगो ंद्वारा कफल्ो ंिी सबसे अकिि पसंद िी जाने वाली िैली जानने िे कलए 

एि सवेक्षण आर्ोकजत किर्ा गर्ा | 1200 लोगो ंने सवेक्षण िा उत्तर कदर्ा | 

पाई चाटष उस सवेक्षण िे पररणाम दिाषता है | पाई चाटष में संख्या अनुपात में 

है| इस आरेि िा अध्यर्न िरें  और कनम्नकलक्तित प्रश्ो ंिा उत्तर दे | 

 
(138) Which two genres of movies were liked the least? 

किन दो िैकलर्ो िी सबसे िम पसंद किर्ा जाता था? 

SSCCGL201723AUG-S3 : 72 

(a) Fiction and Historical िाल्पकनि और ऐकतहाकसि 

(b) Fiction and Drama िाल्पकनि और नाटिीर् 

(c) Drama and Historical नाटिीर् और ऐकतहाकसि 

(d) Drama and Romance नाटिीर् और रोमांस 

 

(139)  How many surveyed said they liked Historical movies? 

सवेक्षण अिीन कितने लोगो ंने र्ह िहा कि उन्ें ऐकतहाकसि कफले् पसंद है? 

SSCCGL201723AUG-S3 : 73 

(a) 6  (b) 72  (c) 80  (d) 60 

 

(140) How many more people surveyed like Drama movies than 

those who like Romance movies? 

सवेक्षण अिीन कितने लोगो ंने रोमांकटि कफल्ो ंिी तुलना में नाटिीर् कफल्ो ं

िो पसंद किर्ा ? 

SSCCGL201723AUG-S3 : 74 

(a) 3  (b) 36  (c) 40  (d) 30 

 

(141)  24% people who were mailed the survey questionnaire 

answered the survey. The survey questionnaire was mailed to 

how many people? 

सवेक्षण प्रश्वली भेजे जाने वाले लोगो ंमें से 24% लोगो ंने सवेक्षण िा उत्तर 

कदर्ा। सवेक्षण प्रश्वली कितने लोगो ंिो भेजी गई थी? 

SSCCGL201723AUG-S3 : 75 

(a) 5000  (b) 10000 (c) 1200  (d) 288 

 

Direction (142-145) : The bar graph shows the internal memory 

size of 5 different smartphone models (A, B, C, D, E). Study the 

diagram and answer the following questions.  

बार ग्राफ में 5 अलग-अलग स्माटषफोन मॉडल(A, B, C, D, E) िे इंटरनल 

मेमोरी आिार दिाषर्ा गर्ा है। ग्राफ िा अध्यर्न िीकजए और कनम्नकलक्तित 

प्रश्ो ंिा उत्तर दीकजए ।  

 
(142) Which two models have the same memory size? 

किन दो मॉडलो ंिा मेमरी आिार समान है ? 

SSCCGL201720AUG-S2 : 72 

(a) E and C (b) B and D (c) D and A (d) A andE 

 

(143) Even if memory of model C was doubled it would be lesser 

(in GB) than that of model A by? 

भले ही मॉडल C कि मेमोरी िो दोगुना किर्ा जाए, कफर भी र्ह मॉडल A िी 

तुलना में कितनी िम (जीबी में ) होगी ? 
SSCCGL201720AUG-S2 : 73 

(a) 8  (b) 12  (c) 4  (d) 16 

 

(144) Even if memory of model D was halved it would be greater 

(in %) than that of model B by? 

भले ही मॉडल D कि मेमोरी िो आिा किर्ा जाए , कफर भी र्ह मॉडल B कि 

तुलना में कितनी अकिि (% में )होगी ? 

SSCCGL201720AUG-S2 : 74 

(a) 300  (b) 400  (c) 75  (d) 50 

 

(145) If price of model E is increased by Rs 12,000 and its 

memory is doubled the sales remain unchanged. This implies 

that people are willing to pay Rs ________ per extra GB of memory 

space. 

र्कद मॉडल E िा मूल्य 12,000 रु बढ़ जाए और इसिी मेमोरी िो दोगुना 

िर कदर्ा जाए तो कबक्री में िोई पररवतषन नही ंहोता है | इसिा अथष है कि 

लोग प्रकत जीबी कि अकतररि मेमोरी से्पस िे कलए ______रु. िा भुगतान 

िरने िे कलए तैर्ार है | 

SSCCGL201720AUG-S2 : 75 

(a) 1200  (b) 1500  (c) 1000  (d) 800 

 

Direction (146-149): The bar graph shows the numbers of 

mployees working in 6 different departments (A, B, C, D, E, F) of 

a certain mpany. Study the diagram and answer the following 

questions. 

बार ग्राफ में एि िंपनी िे 6 कभन्न कवभागो ं(A, B, C, D, E, F) में िार्षरत 

िमषचाररर्ो ंिी संख्या दिाषई गई है। आिृकत िा अध्यर्न िीकजरे् और नीचे 
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कदए गए प्रश्ो ंिे उत्तर दीकजरे् | 

 
(146) Which Department has the second highest number of 

employees? 

किस कवभाग में दूसरे स्तर पर सबसे अकिि िमषचारी? 

SSCCGL201722AUG-S3 : 72 

(a) E  (b) A  (c) D  (d) F 

 

(147) If 5 employees are transferred from department A to 

departmment F, then number of employees in department F 

would be between those of which two 

departments? 

र्कद 5 क्रमचाररर्ो िो कवग=कवभाग A से कवभाग F में स्थानांतररत किर्ा जाए, 

तो कवभाग F में स्थानांतररत किर्ा जाए, तो दो कवभाग िी संख्या िे मध्य होगी? 

SSCCGL201722AUG-S3 : 73 

(a) B and C / B और C  (b) A and E / A और E 

(c) B an d D / B और D  (d) C and E / C और E 

 

(148) If departments F and D are merged to create a new 

department G, then which department will have the least 

number of employees? 

र्कद कवभागो ंF और D िो एि नर्ा कवभाग G बनाने िे कलए कवलर् जाता है, 

तो सबसे िम िमषचारी किस किस कवभाग में होगें? 

SSCCGL201722AUG-S3 : 74 

(a) G  (b) F  (c) D  (d) B 

 

(149) If the average salary of these employees is Rs 8,000, then 

how much was the company\'s expense (in Rs. Lakhs) towards 

salaries? 

र्कद इन क्रमचाररर्ो िा औसत वेतन 8,000 रु है, तो वेतन िे प्रकत िंपनी िा 

व्यर् (लािो रु में) कितना होगा? 

SSCCGL201722AUG-S3 : 75 

(a) 4.86  (b) 5.12  (c) 3.24  (d) 5.88 

 

 

Direction (150-153):  

 
Which movie grossed the second highest box office collections? 

बॉक्स ऑकफस पर सबसे अकिि िमाई िरने वाली कफल्ो में से दूसरे स्तर 

पर िौन सी कफल् थी? 

SSCCGL201723AUG-S1 : 72 

(a) E  (b) C  (c) B  (d) D 

 

(151) By what percent collections of movie D were lower than 

that of movie B ? 

कफल् D िी िमाई कफल् B िी तुलना में कितनी प्रकतित िम थी? 

SSCCGL201723AUG-S1 : 73 

(a) 66.7  (b) 40  (c) 20  (d) 60 

 

(152) Collection of movie C is equal to the combined collections 

of which movies? 

कफल् C िी िमाई किन कफल्ो ंिी संरु्ि िमाई िे बराबर है? 

SSCCGL201723AUG-S1 : 74 

(a) F, A and D / F, A और D  (b) B, D and F / B, D और F 

(c) B and D / B और D  (d) A, B and F / A, B और F 

 

(153) If the producer gets 60% of the box office collections, how 

much (in crores) did the producer of the movies A and E get? 

र्कद कनमाषता िो बॉ􀃈स ऑकफस पर हुई िमाई िा 60% भाग प्राप्त होता है, 

तो कफल् A और E िे कनमाषता िो कितनी िमाई (िरोड़ो ंमें) हुई? 

SSCCGL201723AUG-S1 : 75 

(a) 120  (b) 60  (c) 180  (d) 300 

 

Direction (154-157)-The pie chart shows the shares of 6 

partners in a certain company. Study the diagram and answer 

the following questions.  

पाई चाटफ एक वनवित कों पनी में 6 साझेिार के िेयर ों क  ििाफता है। 

आरेख का अध्ययन कीवजए और वनम्नवलखखत प्रश्न ों के उत्तर िीवजए।  
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(154) Which partner has the lowest share? 

किस साझेदार िा सबसे िम कहस् सेदारी है? 

SSCCGL201722AUG-S1 : 72 

(a) C  (b) B  (c) D  (d) F 

 

(155) Share of E is equal to the combined shares of 

E िा िेर्र किनिे संरु्क् त िेर्रो ंिे बराबर है? 

SSCCGL201722AUG-S1 : 73 

(a) F, A and B / F, A और B  (b) D, C and B / D, C और B 

(c) A, B and C / A, B और C  (d) F, C and D / F, C और D 

 

(156) Ratio of shares of E and B to those of A, C, D and F is 

E और B िे िेर्रो ंिा A,C,D और F िे साथ अनुपात है: 

SSCCGL201722AUG-S1 : 74 

(a) 1 : 2  (b) 2 : 1  (c) 1 : 1  (d) 1 : 3 

 

(157) If the company earns Rs 20 lakh profit, and decides to 

distribute half of it to its shareholders, how much does D (in Rs) 

get? 

र्कद एि िंपनी 20 रु. लाि लाभ िमाती है, और अपने िेर्रिारिो िो 

इसिे आिे कहस् से िो कवपररत िरने िा फेसला िरती है,तो D िो कितन (रु. 

में) कमलेगा? 

SSCCGL201722AUG-S1 : 75 

(a) 15,00,0 00  (b) 3,00,000 

(c) 30000  (d) 1,50,0 00 

 

Direction (158-161) : The line graph shows the number of work 

visas issued by a country in each year from 2011 to 2016. Study 

the diagram and answer the following questions. 

रेिा आरेि में वर्ष 2011 से 2016 ति एि देि द्वारा जारी विष  वीज़ा िी 

संख्या िो दिाषर्ा गर्ा है। आरेि िा अध्यर्न िीकजरे् और कनम्न प्रश्ो ंिे उत्तर 

दीकजरे्। 

 
(158) Number of work visas issued were more than those issued 

in the previous years in how many years? 

कितने वर्ो में जारी किए गए विष  वीज़ाओ ंिी संख्या कपछले वर्ो िी तुलना में 

अकिि थी? 

SSCCGL201723AUG-S2 : 72 

(a) 1  (b) 3  (c) 4  (d) 2 

 

(159) Number of work visas issued in 2016 were lower (in %) 

than the previous year by? 

2016 में जारी किए गए विष  वीज़ाओ ंिी संख्या कपछले वर्ो िी तुलना में 

कितनी िम (%में) थी? 

SSCCGL201723AUG-S2 : 73 

(a) 20  (b) 100  (c) 50  (d) 25 

 

(160) What is the total number of visas issued from 2012 to 

2015? 

2012 से लेिर 2015 ति िुल कितने वीज़ा जारी हुए? 

SSCCGL201723AUG-S2 : 74 

(a) 13000 (b) 18000 (c) 16000 (d) 7000 

 

(161) If 10% of people who are issued work visas do not use the 

visas then how many people from 2011 to 2016 have used the 

visas? 

र्कद जारी किए गए वीज़ाओ ंमें से 10% वीज़ा िारि वीज़ा िा उपर्ोग नही ं

िरते हैं, तो 2011 से 2016 ति कितने लोगो ंने वीज़ा िा उपर्ोग किर्ा है? 

SSCCGL201723AUG-S2 : 75 

(a) 19800 (b) 17800 (c) 18700 (d) 18900 

 

 
 

Direction (162-165) : the pie chart shows the breakup in 

percentages of the various expenses of a company. Study the 

digram and answer the following question. 

र्ह पाइ चाटष िम्पनी िे कवकभन्न िचो प्रकतित कवभाजन िो दिाषता है | आरेि 

िा अध्यर्न िरें  और कनम्नकलक्तित प्रश्ो ंिे उत्तर दें | 
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Which is the second biggest expense of the company? 

िंपनी िा दूसरा सबसे बड़ा िचाष क्या है? 

SSCCGL201720AUG-S3 : 72 

(a) Raw materials िच्चा माल  (b) Salaries वेतन 

(c) Transport पररवहन  (d) Electricity कबजली 

 

(163) The ratio of company's expenditure on Raw material and 

Transport to Salaries is: 

िचे्च माल और पररवहन पर किरे् जाने वाले िंपनी िे व्यर् िा उसिे वेतनो ं

से अनुपात है: 

SSCCGL201720AUG-S3 : 73 

(a) 2 : 1  (b) 1 : 1  (c) 1 : 2  (d) 3 : 1 

 

(164)  The company\'s expenditure on interest is greater than 

expenditure on rent by 

िंपनी िा ब्याज पर िचष किराए पर किरे् जाने वाले िचष से कितना कअिि है: 

SSCCGL201720AUG-S3 : 74 

(a) 100%  (b) 50%  (c) 200%  (d) 150% 

 

(165) If the total expenses of the company are Rs 50 crores, the 

total expenditure (in Rs crores) on Transport and Electricity is: 

अगर िंपनी िा िुल िचष Rs. 50 िरोड़ है, तो उसिा पररवहन और कबजली 

पर िुल व्यर् (रु िरोड़ में) है: 

SSCCGL201720AUG-S3 : 75 

(a) 7.5  (b) 12. 5  (c) 20  (d) 10 
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Answer Key 

1 C 2 C 3 C 4 C 5 A 

6 D 7 B 8 A 9 D 10 B 

11 D 12 C 13 B 14 C 15 A 

16 C 17 B 18 D 19 D 20 B 

21 A 22 A 23 B 24 B 25 B 

26 C 27 B 28 C 29 B 30 C 

31 A 32 B 33 A 34 B 35 C 

36 C 37 C 38 C 39 D 40 C 

41 B 42 C 43 A 44 D 45 C 

46 C 47 C 48 C 49 B 50 C 

51 A 52 D 53 B 54 D 55 D 

56 A 57 C 58 A 59 D 60 B 

61 A 62 A 63 A 64 A 65 B 

66 C 67 B 68 A 69 B 70 A 

71 A 72 C 73 B 74 C 75 A 

76 D 77 D 78 B 79 A 80 D 

81 A 82 C 83 B 84 C 85 B 

86 D 87 D 88 A 89 B 90 B 

91 A 92 B 93 A 94 C 95 D 

96 D 97 A 98 B 99 D 100 B 

101 D 102 C 103 A 104 D 105 A 

106 B 107 D 108 A 109 D 110 D 

111 D 112 D 113 C 114 C 115 A 

116 B 117 B 118 A 119 D 120 B 

121 D 122 C 123 A 124 B 125 D 

126 D 127 B 128 B 129 C 130 C 

131 B 132 A 133 C 134 B 135 A 

136 C 137 B 138 A 139 C 140 C 

141 A 142 C 143 A 144 A 145 B 

146 A 147 A 148 D 149 B 150 B 

151 B 152 C 153 C 154 A 155 A 

156 C 157 D 158 D 159 D 160 A 

161 D 162 D 163 D 164 A 165 C 
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Solution 
(1) 

Profit for any year 7=1600-1240=360                                             

Tax on y7=360×33/100=118.8 

 

(2) 

y2, profit=110-

850=250                                                                    

Tax=250×22%=55                                                                          

    

Profit after tax=250-55=195                                                        

y6, profit=1500-

1200=300                                                                               

tax=300×30%=90                                                                           

    

profit after tax=300-

90=210                                                             

y8,  profit= 1800-1400=450                                                             

tax= 

450×15%=67.5                                                                           

profit after tax=450-

67.5=382.5                                                       

therefore option 3 is true. 

 

(3) Values of yearly 

profits                                                                        

Y1=200, y2=250, y3=200, y4=250, y5=300, 

y6=300,                                 

y7=360, y8= 

450                                                                                 

Hence 5 different values are there. 

 

(4) as solved in question 73 find out the profit after tax 

and                              

then add the values. 

 

(5) 

Total trade in year 3 = 1183 crore dollars 

Total export in year 3 

= 1183/7 × 4 = 676 

Total import in year 3 

= 1183/7 × 3 = 507 

Required difference = 676 – 507 = 169 

Or 

= 1183/7 (4 - 3) 

= 1183/7 = 169 crore dollars 

 

(6) 

Let total trade in year 2 and year 4 = x 

Export in year 4 = 5/13 × x 

5x/13 = 315 

X = 13 × 63 = 819 

Import in year 2 = 819/18 × 7 

= 318.5 crore dollars 

 

(7) 

Export of year 1 = 5700/19 × 10 

= 3000 

Export of year 5 = 5700/2×25 ×12 

= 1368 

Required difference = 3000 – 1368 

= 1632 crore dollars 

 

(8) 

Export in year 1 = 3800/19 × 10 

= 2000 

Export in year 2 = 3600/18 × 11 

= 2200 

Export in year 3 = 2800/7 × 4 

= 1600 

Export in year 4 = 3900/13 × 5 

= 1500 

Export in year 5 = 5000/25 × 12 

= 2400 

Import in year 1 = 3800 – 2000 = 1800 

Import in year 2 = 3600 – 2200 = 1400 

Import in year 3 = 2800 – 1600 = 1200 

Import in year 4 = 3900 – 1500 = 2400 

Import in year 5 = 5000 -  2400 = 2600 

Average export = 1/5 × 9700 = 1940 

Average import = 1/5 × 9400 = 1880  

Required difference = 1940 – 1880 = 60 crore dollars 

 

(9) 

 Diff=24-6=18% 

18%=200 =36  

 

(10) 

7% of 200 =14 

14 x 2260=31640 

 

(11) 

17% of 200=34 

34 x 4840=164560 

 

(12) 

 Country3 

15% of 200 = 30 

30 x 9900 

=297000 

 

(13) 

Required = (122 – 65)/65 × 100 

= 87.69% 

  

 

(15) 

I → 295/122 

II → 211/123 

I > II 

 

(16) 

% increase for Bank 1 = (352 – 265)/265 × 100 

= 32.83% 

% increase for Bank 2 = (122 – 65)/65 × 100 

= 87.69% 

% increase for Bank 3 = (211 – 138)/138 × 100 

= 52.89% 

% increase for Bank 4 = (157 – 109)/109 × 100 

= 44.03% 

% increase for Bank 5 = (158 – 80)/80 × 100  

= 97.5% 
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(17) 

Only C has less no. of taxis than D and more no. of taxis than A 

with 35 taxis. 

 

(18) 

D=75+30=105 

C=35 

D-C=105-35=70 

 

(19) 

A+C=25+35=60 

D=75 

Difference=75-60=15 

 

(20) 

Total taxis=25+120+35+75+95+10=360 

Total cost=360*100*3=108000. 

 

(21) 

200 – 100 = 100 

 

(22) 

250 + 100 + 400 = 700 

 

(23) 

 
 

(24) 

 
 

(25) 

Highest mark in mathematics = 475 

English = 407 

Science = 471 

Hindi = 439 

 

(26) 

Max marks in all the 4 subjects 

Student 1 = 354 

Student 2 = 356 

Student 2 = 379 

Student 4 = 338 

Student 5 = 365 

 

(27) 

According to the given condition 

The marks ⇒ Student 1 = 373 

Student 2 = 382 

Student 3 = 390 

Student 4 = 376 

Student 5 = 379 

 

(28) 

 
 

(29) 

Surplus of country A of year 2013 and 2014 taken together 

= (1671 - 1641) + 1103 – 1002) 

= 30 + 101 = 131 thousand quintals 

  

 

(30) 

Stock of country C at end of 4-year period 

= [7835 + 2035 + 1821 + 1937 + 3014] – [2247 + 2018 + 

2563+2988] 

= 6826 thousand quintals 

  

 

(31) 

 
 

(32) 

Surplus of country B over the 4 years 

= (1881 - 1798) + (2067 –  2389) + (1328 - 2063) + (1578 - 1239) 

= 83 – 322 – 735 + 339 = -635 

Surplus of country D over the 4 years. 

= (3126 - 2417) + (2987 - 2917) + (2143 - 3188) + (4126 - 3563) 

= 297 

∴ surplus of D  surplus of B. 

 

(34) 

Profit=20+30-10+5+15+10=70 

 

(35) 

Profit in 2011=20 

Profit in 2012=30 

Increment =33.33% 

 

(36) 

In 2015 reserve=150 

In 2012 reserve= 150-(30-10+5+15)=110 

 

(37) 

Difference in hour of algebra and modern maths 

 = (9 – 4) = 5% 

5% of 500=25 

 

(38) 

Given that 

6% of geometry = 36 hour 

1% of hour = 6 hour 

So, ¼ 

Remaining ¼ hour arithmetic 
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Time taken to teach topic of ratio  =¼ 

  

 

(39) 

Given that 

Data Interpretation & modern maths = 8 + 4 = 12% 

12% of hour = 96 

1% of hour = 8 hour 

So, number system & geometry = 23 + 6 = 29% 

Req. hour = 29 × 8 = 232 

 

(40) 

Except arithmetic 10% = 10% of 54 = 5.4 

So = 5.4% 

So, required angle =360 ⁄100 ×5.4  = 19.44 

 

(41) 

Given then, 

Literate people in city 4 

= (600000/100) × 63 

= 378000 

 

(42) 

 
 

(43) 

 
 

(44) 

City 1 = 80% of 250000 = 200000 

City 2 = 85% of 200000 = 170000 

City 3 = 78% of 220000 = 171600 

City 4 = 63% of 300000 = 189000 

City 5 = 92% of 150000 = 138000 

City 6 = 58% of 400000 = 232000 

So, city 6 > city 1 > City 4 > City 3 > City 2 > City 5 

 

(45) 

Increase in sale from 2009 to 2012 in hatchback 

= 800 – 500 

= 300 

Increase in sale from 2009 to 2012 in sedan 

= 625 – 450 

= 175 

Increase in sale from 2009 to 2012 in SUV 

= 750 – 150 

= 600 

So, SUV has highest increase. 

 

(46) 

 
 

(47) 

Total sale of sedan = 450 + 500 + 575 + 625 = 2150 

Total sale of SUV = 150 + 250 + 400 + 750 = 1550 

Required ratio = 2150/1550 = 43/31 

  

 

(48) 

 
 

(49) 

MBBS, who have filled the from 

From XYZ university 

= 18/100 × 17/100 × 40000000 

= 1224000 

  

 

(50) 

Required difference 

= 18/100 × 40000000 – 9/100 × 35000000 

=4050000 

 

(51) 

B. Arch candidates who did not gave exam 

= 50/100 × 16/100 × 40000000 – 45/100 × 14/100 ×  35000000 

= 995000 

 

(52) 

Number of absentees for 

B. tech = 18 × 400000 - 19 × 350000 = 550000 

B. com = 21 × 400000 – 22 × 350000 = 700000 

M.B.B.S. = 17 × 400000 – 14 × 350000 = 700000 

B.A. = 20 × 400000 – 22 × 350000 = 300000 

M.B.A. = 8 × 400000 – 9 × 350000 = 50000 

Others = 16 × 400000 – 14 × 350000 = 1500000 

Therefore, highest number of absentees is for M.B.B.S. 
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(53) 

Required average 

= 300 + 250 + 272 + 162 + 82 + 104 + 120/7 

= 184.28 

 

(54) 

 
 

(55) 

Required Percent= 300+272/718 × 100 

= 79.66 

 

(56) 

Bottom two countries after arranging in ascending in ascending 

order = Nepal and Thailand 

New per acre yield off all countries 

 = (82 + 104) 120/100 + 110/100 (1104) 

 = 186 × 1.2 + 1.1 × 1104 

 

(57) 

Time taken in point and frame 

= 35/100 × 300 

= 105 hours 

 

(58) 

Time taken in glass 

= 192/6 × 8 

= 32 × 8 

= 256 hours 

 

(59) 

Difference in time taken by frame and glass 

= (127.5/40+11) × (22 – 8) 

= 127.5/51 × 14 

= 35 hours 

 

(60) 

Total time for quality check = 15% 

There  are 6 processes 

So, 

Total time for any one process in quality check 

= 15%/6 

= 2.5% 

New angle for seats and glass 

= (6 + 8 – 2.5 – 2.5)%/x0 = 100/360 

9 × 18 = 5x 

x = 32.40 

  

 

(61) 

 
 

(62) 

 
 

(63) 

 
 

(64) 

Aerage sale in 2014=22/4 

Aerage sale in 2015=25.5/4 

Aerage sale in 2016=30.5/4 

Brand 4 will have maximum stars. 

 

(65) 

 
 

(66) 

maximum in 8 am to 9 am 
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(67) 

Since the approximate average is 85 

Therefore, number of parked cars less than average is for 8 

hours. 

 

(68) 

Since total number of cars = 1110 

∴ total = 1110 × 50 = Rs. 55500 

 

(70) 

Amount (in billion USD) = 50 – 30 = 20 

  

 

(71) 

Required ratio = 90/30+70+50 = 3/5 

 

(72) 

Let GDP 10 years before be x 

∴ x× 150/100 = (30 + 100 +70 + 20 + 90 + 50) 

⇒ x = 240 

 

(73) 

 
 

(74) 

Audience in screen 3, 2nd show = 700 

Audience in screen 1, 2nd  show = 300 

Required No. of Audience = 700 – 300 = 400 

 

(75) 

. 

 

(76) 

Revenue of screen 1 = (500 + 300 + 600) × 350 = Rs. 4,90,000 

Revenue of screen 2 = (600 + 450 + 400) × 300 = Rs. 4,35,000 

Revenue of screen 3 = (650 + 700 +750) × 250 = Rs. 5,25,000 

∴ Revenue of screen 3 in maximum. 

 

(82) 

Required no. of tickets = (6 - 5) = 1 

∴ Required percentage = 1/5 × 100 = 20% 

 

(83) 

Required ratio = 5+3/6 = 8/6 = 4/3 

 

(84) 

Required revenue = 7000 × (1 - 6) × 1000 

= 350,00,000 

= 35 million 

 

(85) 

2012, 2014, 2015 had admissions greater than that of the 

previous year. 

  

 

(86) 

Required no. of students = 100 + 150 + 150 + 250 + 350 

= 1000 

  

 

(87) 

Required % = 250-150/150 × 100 

= 66.67% 

 

(88) 

Total fees = (100 + 150 + 150) × 10000 + (250 + 350 + 300) × 

1200 

= 40,00,000 + 1,08,00,000 

= 1.48 crore 

 

(90) 

Required % = 0.9 – 0.8/0.8 × 100 

= 12.5% 

 

(91) 

Total no. of cars (in millions) = 2.7 

Now, % of petrol cars = 65% 

∴ Required numbers = 65/100 × 2.7 

= 1.755 

 

(92) 

Tax on 1 car = 2.5% × 30,000 

= 750 million 

Tax on 2.7 million cars = 750 × 2.7 

= 2.03 billion (approx.….) 

 

(93) 

For country C, inflation in 2016 is lower than that in 2015. 

 

(94) 

Required % = 5-2/2 × 100 = 150% 

 

(95) 

Required ratio = 8/4 = 2 : 1 

 

(96) 

Price index of country D in the end of 2016 = 200 × 102/100 × 

105/100 

=214.2 

 

(98) 

Required % = 525 – 500/500 × 100 

= 5% 

 

(99) 

Required amount = (330 + 525 + 120 + 100) – (300 + 500 + 100 

+ 50) 

= 125 lakh = 1.25 crores 

 

(100) 

Cumulative cost of production in 2015 and 2016 = 10 + 10 = 20 

cr = 2000 lac 

Cumulative revenue in 2015 and 2016 = 300 + 330 + 500 +525 

+ 100 + 120 + 50 + 100 = 2025 lac 

∴ Cumulative profit = (2025 - 2000) lacs 
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= 25 lacs 

  

 

(101) 

 
 

(102) 

Required percent = 24-8/8 ×100 

= 16/8 × 100 

= 200% 

 

(103) 

Required difference = 1875/100 (24 - 16) 

= 150 

 

(104) 

 
 

(105) 

Taking option (a) 

Runs scored against each team is in integral value when total 

runs scored is 25. 

  

 

(106) 

Required runs = 12% of 1600 

= 12/100 × 1600 

= 192 

 

(107) 

Difference of % runs against England & Pakistan = 9% 

Which is same as in case against Australia & New Zealand 

  

 

(108) 

Difference of % = 25% - 9% 

= 16% 

∴  Required runs = 16/100 × 1600 

= 256 

 

(109) 

Total % runs against Australia & Zealand = 41% 

And, 

Total % runs against Sri Lanka & Pakistan = 21% 

Difference 20% 

Which is = 20/100 × 3600 = 72⁰ 

 

(114) 

As seen from pie- chart = B = 30% 

 

(115) 

A country = 25% 

⇒ 90%_________360⁰ 

360⁰/90 × 25 = 4 × 25 = 100⁰ 

 

(116) 

Req. percent = 30-10/10 × 100 = 20/10 × 100 = 200 

 

(117) 

 
 

(118) 

Required ratio = 150: 200 = 3:4 

 

(119) 

Required difference 

= 400/100 × 1000 – 150/100 × 1000 = 2500 

  

 

(120) 

Required % = 200/200 × 100 = 100% 

 

(121) 

Required population 

= 50/100 × 2000000 = 10,00,000 

 

(122) 

From pie-chart, F is winner if A dedared disqualified, 
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(123) 

From the pie-chart, 

Winning candidate = (27 - 21) = 6% 

So, 1% = 1000 

The value of 6% = 6000 

 

(124) 

According to condition, 

F gets – 21 + 8 = 29% 

So, A gets  27% 

So, F would have won by 2% = 2000 votes 

 

(125) 

Attendance = 60% 

That is equal to = (27 + 11 + 6 + 9 + 16 + 21) 

Total votes list candidates = 90/60 × 100 = 150% 

= 150000 

 

(126) 

No. of tigers in WLS D = 10 

No. of tigers in WLS F = 13 

∴ No. of tigers in WLS B is more than that in D but less than F. 

  

 

(127) 

Required no. of tigers = (29 + 9) + 11 + 5 + 10 + (22 - 3) + 13 = 

96 

 

(128) 

 
 

(129) 

Total no. of tigers in all sanctuaries 

= 29 + 11 + 5 + 10 + 22 + 13 = 90 

Total of tigers in all sanctuaries before 20 years 

= 90 × 100/120 × 100/125 

= 60 

 

(142) 

From the graph  A & D 

 

(143) 

If double of memory model C = 2 × 4 = 8 

The required = 16 – 8 = 8 

 

(144) 

If D model memory halved = 16/2 = 8 than 

Required % = (8-2)/2 × 100 = 300 

  

 

(145) 

If model E increased by 12000 & mm. Double the sales. 

Unchanged 

= 12000/8 = 1500 

 

(146) 

Descending order of departments according to no. of employees 

A > E > C > B > D > F 

∴ Department E has the second highest no. of employees 

 

(147) 

Net employees in Department F = 3 + 5 = 8 

& Net employees in department A = 25 – 5 = 20 

∴ B < F < C (According to no. of employees) 

 

(148) 

 
 

(149) 

Company’s total expense towards salaries 

= (25 + 6 + 10 + 5 + 15 + 3) × 8000 

= Rs 512000 

= 5.12 lakh 

 

(154) 

C has the lowest share i.e. 5% 

 

(155) 

Share of E = 40% 

Share of (F + A + B) = 10 + 20 + 10 = 40% 

∴ Share of E = share of (F + A + B) 

 

(156) 

 
 

(157) 

D’s share = 15% of 10 lakh 

= Rs. 1,50,000 
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